&H

= B i

-

ROLLER GUIDE
RAIL RACK



AFNOR CERTIFICATION

N° 2017/73977.1

AFNOR Certification certifies that the management system implemented by:
AFNOR Certification certifie que le systéme de management mis en place par :

KAI HE MACHINERY CO., LTD.

for the following activities:
pour les activités suivantes :

MANUFACTURE OF MECHANICAL PARTS (RACK).

has been assessed and found to meet the requirements of:
a été évalué et jugé conforme aux exigences requises par :

ISO 9001 : 2015

and is developed on the following locations:
et est déployé sur les sites suivants :

NO.117, ZHONGXIAO RD., DALI DIST., TAICHUNG CITY 412, TAIWAN (R.0.C.)

This certificate is valid from (year/month/day) X £ until & =
Ce certificat est valable a compter du (année/mois/jour) 201 7 01 24 Jusqu'au 2020 01 24
cofrac
CERTIFICATION
DE SYSTEMES

el Ce document est signé électroniquement || constitue un original électronique a valeur probat

AcCEmIoN This Gocumant s ictionioahy sorec 1 stancs foran clecioni orghal Weh prebesery vake

poRTEE
DISPONELE SUR
WWCORAC R Franck LEBEUGLE

Managing Director of AFNOR Certification
Directeur Général d’AFNOR Certification

The electronic certificate only, available at ywwyi afnor org, attests in company is certfied. é o, ainor.org, fait faceniicaton  Soan this QR code
forganisme. COFRAC on n°4-0001, . Scope avatiable on www cofrac It "4-0001, ‘Systémes de management,
Portée disponible sur v cofrac.Ir. AFAQ s a registered trademark. AFAQ est une marque déposéo. CERTI F0956.7 —EN 1172014 to check the validity
of the certificate

11 rue Francis de Pressensé - 93571 La Plaine Saint-Denis Cedex - France - T. +33 (0)1 41 62 8000 - F. +33 (0)1 49 17 90 00 a'n 0 r
SAS au capital de 18 187 000 € - 479 076 002 RCS Bobigny - www.afnor.org



Index

=5l
V BEHEENRGHIRERTRLE. .. ..o ceeeencrcncnciesnnninincttsnnscsittsssssssssstsssssssssssssssssssssssassssssssasaes 01
V1= B ot R 02
VR REEEEDFERSIR ... asas 03
VA TE= 0 Rt E ey 1 04
V B EE) IR RBIRERD. ..o oottt ns 05
V BIEHEENZRETZIR. ..o overercrcennrircciissssnisesctsssssscsiss s ssasssss s ssas s as s s s s s s nes 06
V BB EEN R GRIRTEEIEE ... aaes 07
T 09
R 13
P 17
- 21
1y 25
B0 Bttt ettt e s e st e s s s s a s s s e s s s e s s e e e s s s s s et e s e R s s s assassasssssasans 27
L 29
L 31
T 33
BO B s e e e e e e e e e bbb es 34
L0 35
TOO BH.....rtrtctntntntsstsstsstsstestsstsstsstssssstestestestestestestestestestestestestestestastessastastansanten 37
1 39



EHREMEERAIIZRIE ..o e aaes 44

B R BT EEEENTTIIE. ..o oot esesens e see st snsesess st ssass st s asssassassenans 45
B R B SR AEBITET .......oeoeeeeeenresesesesessssesesesssasssssssssssssssssssssssssssssssssssssssssssssssssssess 46
EHREIEIRRATTIR ..ottt sssss st sa st s s s st s s s st s b s b ses 47
A0 BERERAE .....ooeeeeecccccerecnenenccseseseeeeeseesesssssssssssssssssasasssasasasasasasasasasasasasasasasasasasasas 49
52 BUBBRAH ....ovuooveeoreeereessreessssssssssssssssessssesssssssesssssssssssssssssssssasssssssssssssasassssssassssssasssssssssseses 53
62 BURERAH ...ceeeeeeeeeeecnecreecneeenecen et ease st et sa et s st sae s st ae s st st sae st tsa et st asesaesastes 57
T2 BEBERAE .ot e e e esae s se s s e e s ne s e s s asas s nense 61
90 BEBIBRAH .......oveereeresneeesseessssssasssssssssssssssssssassssssssssssasssssssesssssssssssesssssssssssasssasssssssssssssasses 66
F52 BURERAR. ..o eeeeeneeeneereenenennennseeasnesesaeessensesnsssssnsssssnssssnssssssassssssssssssssssssassssassssssnsnses 71
FE2 BEBBRAR......ovvureeeereeresesessssesssessssssssssssssssssssssssssssssssssessssssssasssssssssssssassssssssssssssssssssnass 73
F72 BURERAR ... eoeeeeeeneeeeeeeenereeneseeaeneceneeseenssssasssssasssssnsssnssssssassssssnsssnssssssassssnsnssssnsnses 75
FOO BUTRERAR. ..o oeeeeceneeeeeeeneernenrseeaeneeeaeessensssassssssnsssnnssssssnssssssasssssssssssnssssssassssasasssnsnses 77
PETLIEHL.......c.oceeereereereesenssnsesessessesssssssssssssasssssssssssessesssssssssssssssssssssssssssssasssssssssssssssasssssssssans 81
T EESE TR cvveneeesneenssessssssssssssssssssssssesssssssssssssassssssssassssasssssssssssssssssssssassssassssssssassssasasassssassasees 92

e E= O 95




NS TR

SV RS BN w RS A el i R S w) A SESE R B T I TR S e R
W&ty , B A R U T 0 A i R RS FRAMT B A B, RO TR AN LT RR AL R
A HRAEHOA TR BLB5E A BB AR5 7 e 58 B 1 e 5 i L i R A PE 8% HL 5 | G
SEERBAS | b 2

FURTFA 2 A MCVEG IR BB | 7450 0 TR | R o o fee PR s 9% 55 o A Jon T
HUTMER. SR AR, HEA SOkl . SRR, B o0 00 AR E SR SRR R .




SUAM I — B UEOR, AT, Rl R A 5 95
M, FAA & BRAF W B IRA, H—H
TREFE B mah EAIESR , R % P 3R 0 v T 1Y
di o — IR ZE a8 2B iy, AR PO SO 0 3 2 B — o2
R ERR . fElE, FRAM ki B e DA R
BRI AR e T FAM AT SR P, R T AT B
P, A SR R 5SS B R R E R . R
AR H T 28 DU B BORT 48 48 B 0 AR, R R ik
ﬁ%ﬁ%o%%%W%—E%ﬂE%@ﬁ%&@iT



APPLICATIONS
FERZEH

The seventh axis of the robot

HBEAS M

Truss robot mobile platform

LVES PN




GUIDEWAY SYSTEM
FOR MEDIUM DUTY APPLICATIONS

V EIEH & iR



‘ V REHEERAERRS
V RENEEEERG (ERRRSHHOENERT)

V RIEMSIREE A AEIE V BB, VREEHEGKE. RREE  BRRTSEETNENESR. SREENCER
RENRE  BER) ERRES  BE(R, BES.

ABEEFES 15, 20, 25, 35 MUEELSR , RTERERRTRNTE | BIR9R CP &k, FIEEHIIRSIREX
FEEA HRC50-55,

Guideway V bar rack drive system(medium duty)

The guideway V bar rack drive system includes guideway V bar,guideway V bar rack,roller etc.The contact between
the roller and guideway is linear,ensuring high speed,low noise and precise positioning.

Now our standard code include 15,20,25,35 sizes.To avoid cumulative pitch tolerance due to n,we use CP racks.the
guideways are induction hardened to HRC50-55.

\%
Roller for V bar with wiper & lubrication cover

Tubular Steel profile with guideways

Gearbox

Tubular Alu profile with guideways

Gearbox
Felt pinion lubrication

Drive plate

01



_r
__|_
——
B
gy

B ZBRBEBURISE,. RintISRE T
E’JE@%@ REAPEE AR EEEELE 50-
55HRC,

R

RERIZIR PN SR AERE , AEESH PSR
KAZHBENEI BEBKER, BEOAR
25°, IR LURAHROFIEROR. R
B TR R R IR MR R,

V BISMERENRSRE

77
__[0.01]B]

Linear guideway

The accuracy of the guideway system is built
up from the basic quality of the guide,roller and
drive elements.The guiding surfaces of carbon
steel guideways are hardened to 50-55HRC.

Rollers

The rollers are dual-row angular contact ball-
bearings with a 25 degree pressure angle with
RSR seals and sealed for life.The rollers are
manufactured to the PN tolerance class.The
rollers can be supplied with normal or pre-loaded
bearing clearances with concentrica or eccentric
centers.

yacs
%ﬁi Ga(um) @ Ga(um) @
15 +6/+23 -3/+5
20 +6/+23 -3/+5
25 +8/+27 -3/+5
35 +11/+33 -3/+5
B AR
@FaEk RS
EEE)TTi4 Drive elements
RFITLRHSERISER | LUnE AR Racks are supplied in various sizes to meet the
%'22‘2 EEARETIAHENERT |, SIREEE required applicaition.For high precision and high
HIFNREILRER, torque applications.the racks are hardened and
ground.
TEEER
Precision grade el Fp(mm) p(mm)
DIN7h25 0.008 0.05 0/-0.02 G
DIN6h23 0.006 0.03 0/-0.01 AN EHIBRIE

02



V R iGaEEeHMERSS

RsE
EETLURIEL TS | BIEHEE
BMARMATRVER, SgFR+TIC, E A Cu(10%m)
EEREEFEMAEH 10°m(100000km) l Fr kN
B SRR AR AR R A R
EERSNNEROERT , B2% -®
£ 05 EFPAOSEEE , SRRBIAE,
|5
L4
3
2
1
0
15 20 25 35
Ji#s/Size
. A Cw(10°m)
KN
Fa
. 20
15

Size selection

The data allows for a rough selection
of the size of the required guideway
system.The C, value are listed in this 10
table for a nominal service life of 10°
m(100 000km),and refer to a roller with
pure radial or axial loading.

IN cases of combined loading and 05
shock,the calculation data on page 5
must be consulted,or a calculation
verification can be requested from the
manufacturer.

15 20 25 35

1% /Size

03



REShSoiRE
EEESIRLAMR | W RREEREE
EEMATHREEE) IR,
HFHRASERN EME (R,

EPHRERNEEEH , GG
%8B RIFLURIEERE TRE.

LHREEIRE DT 2FEE S > 14,
WZXEN L 2FEEE Sy > 1.0, RERE
Se~ 1.0..4.0 , HREFRIREEREE,

ZE5| 7] FN ERssinessl Z B,

Fn

Size selection

After selecting the rack,the gear teeth of
the guideway system must be checked for
compatibility with the required drive forces and
torques.

The rack can be supplied precision cut or
hardened and ground.

The values given are values for shock-free
operation,good lubrication and stiff arrangement
of the pinion.

A safety factor for tooth root stress S;>1.4
and a safety factor for Hertzian stress S;=1.0 is
taken in account.

Depending on your experience and application
a safety factor Sg=1.0...4.0 has to be
considered.

The tracking force FN is related to the number
of teeth Z of the pinion.

V BB EENRIGREEN TN 03E

Afn
/ kN
F
N | 10
| 8
|6
|4
| 2
L l_ L - Lo
15 20 25 35
L |
Tn ATy
&» Nm
| 300
| 250
| 200
| 150
| 100
| 50
_fj;_ l_ L Lo
15 20 25 35
i B . I &

04



V SIS EENRGRE R

IRBUERD Size verification

SaHBER THEETERE. RS The calculation must be done for the roller under
S EEREESSE , 90% L EriEE the highest load.The life time values calculated are
EOTLLERZEE. FES4 Lh(h) M\ nominal.90% of all rollers reach these values.

A LRIR R BRI RE ARG T B,

Fa : BB{E=Em/MEREME S (KN ) External axial force per roller(KN)
Fr: BE(ERERIMNEBIEMA (KN )  External radial force per roller(KN)
P: EEFHE (KN ) Equivalent dynamic load(KN)

Cw : BEEAES (KN) Effective basic dynamic load rating(KN)

Lh : 2B EERSH (m) Nominal life time(m)

Kr: FASERE (- ) Size factor

f (EREE(-) Load factor
FiE: 1.0..1.2 Uniform shocks: 1.0...1.2
ch&Eee : 1.2..15 Moderate shocks:1.2...1.5
B8 :1.5..2.5 Heavy shocks:1.5...2.5

Fs: ERERa{REN Static loading factor

Cow: EATEFEFREEMI (KN ) Max. admissible static radial force(KN

P=Fr+3-Fa (KN)

Pw=f'P (KN)

L=Kr-%£ -10° (m)

=07 sy f52l
VR Kr FR Kr VR Cw(KN) FR Cw(KN) VR/FR Cow(KN)
15 1.555 15 1.447 15 134 15 131 15 6.8
20 1.882 20 2.262 20 18 20 18 20 9.5
25 2.199 25 2.670 25 27 25 27 25 15
35 3.075 35 3.142 35 42 35 43 35 32

05



VBENESHRGRE
RE
BIRRENRRTRER FRERRRAR O AR E R,
VR.A RFIRRILERERY. EROFERESIT |, EROmE CRME 2 @7, efiRRREER.
RERAURENTMNE | ERESEREZAIRER | WERAPRS 0.05mm,
BERREHERGEEASS  FEAETEXRRIE  ERAGRES T RMEMER.
BB ER I R R DR B IR R ITES.

[FHERTRE AN R IR ERHAIER © |, BERD , JLBFEEIRR.

) ition + \ ..
.- Position 0 | B Position +1 B - Position -1

Assembly

The backlash setting and the pre-tensioning of the rollers takes place via the eccentric hub of the rollers of the series.
If a roller is located in its zero position,the gear teeth backlash will be the standard value of 0.05mm flank clearance.
The service lif of the system will be reduced by excessive tensioning.

With too little tension the rollers will not run,or will wear due to the poor meshing.

By using a face spanner the eccentric of the roller can be turned and preloaded.

A correct preload means that the non-load-carrying roller can still be rotated manually using moderate force.

06



HIRTRENEREE

V BB ES) R R RIRTRE R

Adjustment of preload of rollers

) N

HIRTRBNEREE

1. FRRINE 1 RiRORERAIERERIE S | ASEIRIEEIER

o

2. 1REFEATR S g EEREg 180 2, EEIAIIEE
=/IME., BmOFEEESEZI 0.05mm, WNRERAINS
CHEMNE | ahESEEEZBIEEE , RS
0.05mm,

3. IRETEES MY Dk Ok 3 1 4, BETEEIRER.

4 EZEFIZR S, ERNERLEX.

5. EHRGIRHNER , SRTEER. B8, BN
FoinER , EHE5 2 B

6. IAIFAR | RIREEAHET  BERD , TLAF
WBE). WRAHE  BFERER 34, ERE 3L

07

BUSR BeRS KEHE

Code Bolt size MA
15 M8x35 24Nm
20 M10*50 48Nm
25 M12*60 83Nm
35 M16*80 200Nm

Adjustment of preload of rollers

1.Loosen the fixing screws S,with the eccentric hub in
Position I,push the drive carriage onto the beam.

2.Turn the eccentric hubs of rollers I and 2 evenly
in the direction of the arrow until the tooth flank
clearnaceis at a minimum.With the eccentric set at the
minimum distance in the vertical direction,the backlash
measured is 0.05mm.The service lif of the system will
be reduced by excessive tensioning.

3.Turn eccentric of roller 3 and 4 evenly in the
direction of arrow and the rollers will become slightly
pre-tensioned.By using a face spanner the eccentric of
the roller can be turned and preloaded.

4.Tighten fixing screw S:see above table for
tightenting torques.

5.Check the backlash of the pinion to the rack.The
pinion must not bind.Otherwise,loosen the roller and
repeat point 2.

6.Check the pre-tensioning:Rollers that are not under
load must be able to turn using moderate force.If not
free loosen rollers 3 and 4 and repeat point 3.



ROZEER KEP FIE/LRER VR..B BEMERALABRE R R VR..A FIHRIDEE,

ERLEAT , HMATEE R mER R R DR R S < RIS

BN L AR KEP, (R USRI LSRR S RIS EBE) , {EMmERRENE.

AR O REGERRS | TJLAERE VR HEEEERRI TR,

ERTLRBERES.

R OEEER KEP FIRLREGER KSP BEERGIIRT. /TER Imm BROBEESETR  mENNTER L

WIRINT 12 {ESEFL , MAMERECIERSARERINT 4 {ERD.

ShesE 30 B |, 4 ERFEReMEBEE T —EREME.

<V

~~  Position +I

D,
1/

Eccentric mounting flanges KEP together with centric rollers VR..B fulfil the same function as eccentric rollers VR..A.If
a roller is located in its zero position,the gear teeth backlash will be the standard value of 0.05mm flank clearance.

The backlash is adjusted by turning the mounting flange KEP.The eccentric positioned roler therefore moves radially

towards the rail and the roller becomes adjusted.

The backlash is adjusted by turning the mounting flange KEP.The eccentric positioned roler therefore moves radially

towards the rail and the roller becomes adjusted.

To do the adjustment of the eccentric mounting flanges KEP the same tools as for the adjustment of the eccentric

rollers VR..A can be used.

Eccentric mounting flanges KEP have the same dimensions as centric mounting flanges KSP.In order to be able to use
the full range of +1mm of the eccentric there have to be drilled 12 threads in the carriage instead of 4 on the centric

mounting flanges.

After a rotation of 30° the 4 screws have to be moved to the next pattern.

é B I I g gé Code| D | DL | D2 | T | ™
KEPIS| 49 | 36 | 26 | 95 | 5

19 Kep20| 58 | 42 | 30 | 11 | 6

KEP2s| 72 | 52 | 38 | 135 | 8

; KEP35| 98 | 75 | 59 | 17 | 10

08



@15h7
@23.8

15 gnglh iﬁ%s ﬂﬂi%% | S~
Size 15 roller for guideway V bars,Mounting AN
flange, Wiper&lubrication unit Il
%__ I
i
y T\
|
L]
iy Roller fi id V b %
V R oller for guideway V bars 185 5 121
45° ‘ 1
?2.6x3
M2
2%
(32} ( -
: A
213.5
o S -
9]
%
BUER fRE B Ga Cow Cw® Cw® | Nmax IR RYER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR15A 1mm -3/+5 6100 6500 1400 9000 |M8*35 8.84Kk
VR15B 0 -3/+5 6100 6500 1400 9000 |M8*35 8.8 4Kk
CW® : Normal service life 10°m CW® : Normal service life 108m
PN Mounting flange

Code | Weight(kg) Bolt size
KSP15 0.15 M8+*16 8.8 4%
HEE Wiper&lubrication unit

BugE BH= 12T
Code | Weight(kg) Bolt size
KSA15 0.1 M4+18 8.8 4%

09

24
14.5+0.02
4
© N~
={ © o
o B +—-—+F -1+ % 9 ¥
N — = Q
Q B 12.5 S
- e
& S
5.1
81
71
12
45 |
\
|
‘ ™
| | )
i gl | R .ﬁ
7 ‘ U




15 8 V BIEH,, 5%, 5k
Size 15 roller for guideway V bars,guideway

V bar rack,pinion A }

=]
12
19.25
L
V R Guideway V bar A5 i 15 £
_,’;:.""' 1 1
2 Iz N ‘
N g1, ’*’58115 N © =l |
5.8 055 100 |
14.5
pitlid L E 5t IRFRRIER
Code Material Bolt size
SV1506 630 600 S45C M6*16 8.8 4%
SV1510 1030 1000 S45C M6*16 8.8 4%
V B 4% Guideway V bar rack 5 L

P E

24.5
22.9

RigE ) E ey | @5 | BESR L
Code Module Pitch | Precision grade Material
SVGH150606 630 600 1.5915 5.0 DIN6 S45C
SVGH151006 1030 1000 1.5915 5.0 DIN6 $45C
SVFH150609 630 600 1.5915 5.0 DIN9 $45C
SVFH151009 1030 1000 1.5915 5.0 DIN9 $45C
90 23
Drive pinion
B4R p [11.5 145,
g 2 £ g8 N
a1 diEn 8z ot
W Q Q ot
llllllli B e ” P 2 Fig2
BIER [ =& 1 KEEEAR BABEENS
Code Z Module P Fig. Precison grade | Max drive force
SGLP15 20 1.5915 5.0 1 DIN6 3KN
SGSP15 20 1.5915 5.0 2 DIN6 4KN

10



15 BIsEins, AR, jEiBE

Size 15 roller for plain roller,Mounting flange,
Wiper&lubrication unit
iz Plain roller 35
12_,_12
1

@47
8
w
|
i
|
|
223.8

Bugk fROE WP Ga Cow Cw® Cw® | Nmax IR RYER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
FR15A 1mm -3/+5 6100 6500 1400 9000 |M8*35 8.8 4%
FR15B 0 -3/+5 6800 7200 1560 9000 |M8*35 8.8 4k
CW?® : Normal service life 10°m CW® : Normal service life 10°m
AR Mounting flange
24
14.5¢0.02
W
g E Q' o
o B +—-—F 1% 9 <
S 8 | 125 38 8
HER o
AIgE = iZieRIeE & 8
Code | Weight(kg) Bolt size
KSP15 0.15 M8+*16 8.8 &k 15.7]
HEE Wiper&lubrication unit
75
26.5
65
12

4.5

27.5

Code | Weight(kg) Bolt size

ﬂ» © ] i
BIER =8 L i ‘ L_/
|
\

KSB15 0.1 M4+*18 8.8 4k

11



15 BIEiEH, I8, &

Size 15 guideway flat rail, guideway flat rail

rack,pinion ] -
-
g / @
N RN S
R U
L i
2 o | =2
7 19.25 b= Q
EiEE, Guideway flat rail
E
N~
Sl
:r)' < 1 =T L] fﬁ i I
8 711 |
~t [l
88 L [ /osas |15 100
14.5
HigE ) e | omw g mIsE
Code Material Bolt size
ST1506 630 600 S45C M6*16 8.8 4R
ST1510 1030 1000 S45C M6*16 8.8 4R
TEHIER Guideway flat rail rack L
E
o o if 5
28 TS ot © © S
STIAA AANNNAANANANAAANNANANNNNANL
A\WAAW A AW A WA WA WA WA VAAVAAVAAVAL VAV AV VA AV AV A VAV VAV,
6.8 0.5x45°
125 15 100
mg ] : my | wEE | mEEm kL
Code Module Pitch | Precision grade [ Material
STGH150606 630 600 1.5915 5.0 DIN6 S45C
STGH151006 1030 1000 1.5915 5.0 DIN6 S45C
STFH150609 630 600 1.5915 5.0 DIN9 S45C
STFH151009 1030 1000 1.5915 5.0 DIN9 S45C
Bt Drive pinion 90 23
11.5 14.5
f EEL I g
v & I _ B 8 Q o [
Q Q F1OH7
Ta 19
“Il"li 141 Fig.1 = I 52 Fig.2
Ficis) L 1 walE TEEEAR RAREES]
Code z Module P Fig. Precison grade | Max drive force
SGLP15 20 1.5915 5.0 1 DING6 3KN
SGSP15 20 1.5915 5.0 2 DING6 4KN

12



20 B V&, AR, GBS

| ¢ S~
Size 20 roller for guideway V bars,Mounting U
flange,Wiper&lubrication unit ]
|I__ N
i
1%
|
niy
\Ei R Roller for guideway V bars 46
225 3,.16_ 15

| B
22.6x3 V@-ﬁ

|

|

T
@20h7

@63
@27.7

ﬁQ@
e
BUER b= 1 Ga Cow Cy® Cw® | Nmax IZHERIER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR20A Imm -3/+5 8600 9000 | 2000 7000 M10+*50 8.8 &4k
VR20B 0 -3/+5 8600 9000 | 2000 7000 M10*50 8.8 &%

CW?® : Normal service life 10°m CW® : Normal service life 10®m

NN Mounting flange
29
18+0.02
1
[&e} N~
Q 8 16
I\E7 I
g =8 iR . S
Code | Weight(kg) Bolt size
KSP20 0.25 M10*16 8.8 £% 6.8
HEE Wiper&lubrication unit
96
34.5
84
12

35.5

1o Ml .?T

: | YU
BUER BE IRFRRIEE |

Code | Weight(kg) Bolt size |

KSA20 0.1 M5*20 8.8 4K \AK -DJ | I-D—

13




20 B V BVEH, SR, B

Size 20 roller for guideway V bars,guideway

V bar rack,pinion 1 } L
AN . |
te] . /‘ o
| mi: NN
25 g | =
25.75 p= 77
25
V BLIE Guideway V bar L 150
AD
v 5 ; .W\
1 \
o e F“4ahe TR + Y (A w
e Sw oY © Sl |
055 100 ‘
19.5
RI58 ] e | mH g AEE
Code Material Bolt size
SV2006 630 600 S45C M8*25 8.8 4k
SV2010 1030 1000 S45C M8*25 8.8 4}
V R4 4 Guideway V bar rack

>

29.5

RigE ) E Yy | HE | BESR HH
Code Module Pitch | Precision grade | Material
SVGH200606 630 600 1.5915 5.0 DING6 S45C
SVGH201006 1030 1000 1.5915 5.0 DING6 S45C
SVFH200609 630 600 1.5915 5.0 DIN9 S45C
SVFH201009 1030 1000 1.5915 5.0 DIN9 S45C
. - 90
g Drive pinion 145
o B 3
88— — < Es
> S 727
P = _ 19
i“’l"i 11 Fig.1
SR L =& ]S FEEER EABEEIHD
Code z Module P Fig. Precison grade | Max drive force
SGLP20 20 1.5915 5.0 1 DIN6 4KN
SGSP20 20 1.5915 5.0 2 DIN6 4KN

235

@31.831

@25

J10H7

b E2Fig.2

14




20 B Re,, AR, i@igE

Size 20 roller for plain roller,Mounting flange,
Wiper&lubrication unit
Tt Plain roller . 46
16_,_15
1
/¥ o
S [ RSt N
S 216.5 g105/5y Q
] ) i (’Q -
\
1 \_ R500
il ROE i Ga Cow Cw® | Cw® | Nmax IR RIEE
Code Excenter (pm) (N) (N) (N) | (min-Y) Bolt size
FR20A 1mm -3/+5 8600 9000 2000 7000 |M10*50 8.8 4k
FR20B 0 -3/+5 9500 10200 | 2200 7000 |M10*50 8.8 4k
CW?® : Normal service life 10°m  CW® : Normal service life 10m
N Mounting flange
29
18+0.02
Z_L
© N~
Q 8 16
RUER B8 IEHERIER '\E’ =
Code | Weight(kg) Bolt size S S
KSP20 0.25 M10*16 8.8 &K
6.8
HEE Wiper&lubrication unit
102
34.5
91
12
5.5

40

Code | Weight(kg) Bolt size

ﬂ» o1 ) —— g
|
\

KSB20 0.1 M5*20 8.8 4k

15



20 BIEEH, &%, S

Size 20 guideway flat rail,guideway flat rail

441
L]

rack,pinion _
m.
[Te] 0|
N N _ / 2
R |
P WY Z
T 2575 o “2
s, Guideway flat rail L
E
(22
Sl
3 or 1 T RNz @} I ,@} \
i <[P |
9 0.5x45° | 15 100
19.5
Rg8 ) e | mH b
Code Material Bolt size
ST2006 630 600 S45C M8*20 8.8 &k
ST2010 1030 1000 S45C M8*20 8.8 4k
s 5 Guideway flat rail rack L
E
0 g AR // 5
a8 [ 18 O © R
— ‘_,7AJA\J U/-\U/-\\JA\J/\U/\\J/\\J/\\J[\\J/-\ Jr\\Jr\\Jr\\Jr\Y /\\J/-\\Jr\\Jr\\Jr\\Jr\\Jr\\JF
9 0.5x45°
95 T 15 100
e . E My | EE | mES e
Code Module Pitch | Precision grade | Material
STGH200606 630 600 1.5915 5.0 DIN6 S45C
STGH201006 1030 1000 1.5915 5.0 DIN6 S45C
STFH200609 630 600 1.5915 5.0 DIN9 S45C
STFH201009 1030 1000 1.5915 5.0 DIN9 S45C
90 23
Ea¥m Drive pinion
14.5 14.5 .
o 3 g g 8 o
8 5 T T ’%738 ® & 1 (S
N (S S @10H7
[ . 19
lIIIIIIi 1 Fig.1 b 2 Fig.2
sk S =& ]3] FEEER RAREENHD
Code z Module P Fig. Precison grade | Max drive force
SGLP20 20 1.5915 5.0 1 DIN6 4KN
SGSP20 20 1.5915 5.0 2 DING6 4KN

16



25 B VHE, X6, iiBE )
Size 25 roller for guideway V bars,Mounting
flange, Wiper&lubrication unit

V EjEG Roller for guideway V bars

TN e~

N

D S s 4

]E

~ Hn
~ |
) o205
— T /\AI
| &
13
‘y
BUER ROE kR Ga Cow Cw® Cw® Nmax IZHETIER
Code Excenter (um) (N) (N) (N) (min™) Bolt size
VR25A Imm -3/+5 13500 14700 3200 5600 M12*60 8.8 4%
VR25B 0 -3/+5 13500 14700 3200 5600 M12*60 8.8 4%

CW?® : Normal service life 10°m

PN Mounting flange

B BE 2RISR
Code | Weight(kg) Bolt size
KSP25 0.5 M12*20 8.8 4%
HEE Wiper&lubrication unit
BUEE B2 2RISR
Code | Weight(kg) Bolt size
KSA25 0.1 M6+*25 8.8 &

17

CW®@ : Normal service life 10®m

34

20.5*0.02

@38h6
@25H7
|
I
I

|
M12
@52
72

15

. 65

@35.6

I
I
2
@25h7

43




25 BY v RS, p5(%. Sl

Size 25 roller for guideway V bars,guideway

V bar rack,pinion

Guideway V bar

15°

(Y] "
9 s 100
24.7 ]
BUER L E Ly IZFRRIER
Code Material Bolt size
SV2506 630 600 S45C M8+*25 8.8 4k
SV2509 930 900 S45C M8+*25 8.8 4k
SV2510 1230 1200 S45C M8+*25 8.8 4k
VR4 Guideway V bar rack o L
N

g

RigE ] E e | HE | mESR e
Code Module Pitch | Precision grade Material
SVGH250606 630 600 2.3873 7.5 DIN6 S45C
SVGH250906 930 900 2.3873 7.5 DIN6 S45C
SVGH251006 1230 1200 2.3873 7.5 DIN6 S45C
SVFH250609 630 600 2.3873 7.5 DIN9 S45C
SVFH250909 930 900 2.3873 7.5 DIN9 S45C
SVFH251009 1230 1200 2.3873 7.5 DIN9 S45C
¥R Drive pinion 108
19.5
o $ o
R =
<& 8 777
S = . 22
“Ill"i 1 Fig.1
BIGR [ =& i) REEER AREEN
Code yA Module P Fig. Precison grade | Max drive force
SGLP25 20 2.3873 7.5 1 DIN6 3KN
SGSP25 20 2.3873 7.5 2 DIN6 4KN

@52.5
D47.746

@40

18




25 B Ren, AR, i8S

Size 25 roller for plain roller,Mounting flange,

Wiper&lubrication unit
g Plain roller

235.6

g N I —
S @205 %
cnne) i
131" \___ Rs00
il ROE i Ga Cow Cw® Cw® | Nmax IRfRRIEE
Code Excenter (pm) (N) (N) (N) (min™) Bolt size
FR25A Imm -3/+5 13500 | 14700 3200 5600 |M12*60 8.8 4k
FR25B 0 -3/+5 15000 | 16300 3530 5600 |M12*60 8.8 4k
CW® : Normal service life 10°m CW® : Normal service life 10°m
o] Mounting flange 34
20.5¢0.02
Z_L
© N~
] 8 21
o It
gt
BgE =2 igeRIEE L S
Code | Weight(kg) Bolt size
KSP25 0.5 M12*20 8.8 4K 19,
HEE Wiper&lubrication unit
120
44
107
15

BuEE 5= IR RIS
Code | Weight(kg) Bolt size
KSB25 0.1 M6+*25 8.8 4k

19

6.5

47




25 BIEEH, &, &

Size 25 guideway flat rail,guideway flat rail

j
L]

rack,pinion __
By
— 2 — 5
[ S NIZ
N 32.85 5| 27
g, Guideway flat rail
o : 7 75'0°
S | ‘ [
@ L LA {} 1 {} [ L
o =+ 14 RN
o Y / | u
J /10.5x45° | 15 100
24.7
2SR L E 7t 1RHeRISR
Code Material Bolt size
ST2506 630 600 S45C M8*25 8.8 4k
ST2509 930 900 S45C M8*25 8.8 &%
ST2510 1230 1200 S45C M8*25 8.8 &%
L
N L RSP d Guideway flat rail rack -
/f S
™ WO /] 4
L 3 A AL A A A AAAAAL AL
TN A A A" A
9 0.5%45°
547 15 100
BUSR L E e walE BEER et
Code Module Pitch | Precision grade Material
STGH250606 630 600 2.3873 7.5 DIN6 S45C
STGH250906 930 900 2.3873 7.5 DING6 S45C
STGH251006 1230 1200 2.3873 7.5 DING6 S45C
STFH250609 630 600 2.3873 7.5 DIN9 S45C
STFH250909 930 900 2.3873 7.5 DIN9 S45C
STFH251009 1230 1200 2.3873 7.5 DIN9 S45C
. - 108 30
E5Em Drive pinion 19.5 19.5
L . [Te) g © [to} g
== ) N = NS o
g % - 74H>M10t 8 § & ) S P
- Q S} ©1oH7]
“Imli FEi1 Fig.1 22 b o2
g Code | BB | Hm | i R BAEE
== YA Module P Fig. Precison grade | Max drive force
SGLP25 20 2.3873 7.5 1 DIN6 3KN
SGSP25 20 2.3873 7.5 2 DIN6 4KN

20



358 VH., EE. ilgE )
Size 35 roller for guideway V bars,Mounting
flange, Wiper&lubrication unit

Roller for guideway V bars

N

—— X

4.1x4.5

N

f
)

@56.9

S -
S @285
BUER RO 2P Ga Cow Cy® Nmax IZHETIER
Code Excenter (um) (N) (N) (min™) Bolt size
VR35A -3/+5 28800 25600 3600 M16*80 8.8 4%
VR35B -3/+5 28800 25600 3600 M16*80 8.8 4%
CW® : Normal service life 10°m CW® : Normal service life 10°m
=M Mounting flange

BIER

BE
Code | Weight(kg)

IRHREUSR

Bolt size

KSP35

11

M16*25 8.8 4k

pEsH= e

BugE BH= 12T
Code | Weight(kg) Bolt size
KSA35 0.1 M6+*25 8.8 &kt

21

Wiper&lubrication unit

@59h6

D40H7

S I = iy
5 8
<2
S

@98

. 6.5

58




35 BV BIEHE, B5(% ESie
Size 35 roller for guideway V bars,guideway
V bar rack,pinion

V B Guideway V bar

_ i I 15,

S
NI

-~

m

211 T
o @ @) : | |
¢ STt 18 =R © @‘ |
11 0.5x45° ‘ 100 ‘
34.6
RIgE L g e iZeRIgE
Code Material Bolt size
SV3506 630 600 S45C M10+*35 8.8 4k
SV3509 930 900 S45C M10*35 8.8 4%
SV3510 1230 1200 S45C M10*35 8.8 4%

V RUE 15 5% Guideway V bar rack

ﬁ‘<
©|

46.
218,
"

11

HigE . . | R | EESR e
Code Module Pitch | Precision grade Material
SVGH350606 630 600 3.1831 10 DIN6 S45C
SVGH350906 930 900 3.1831 10 DIN6 S45C
SVGH351006 1230 1200 3.1831 10 DIN6 S45C
SVFH350609 630 600 3.1831 10 DIN9 S45C
SVFH350909 930 900 3.1831 10 DIN9 S45C
SVFH351009 1230 1200 3.1831 10 DIN9 S45C
R Drive pinion 162 43
1205, 295 .
o % 2 o % Q
b, @ g - 7%7@ N @ g j
[ - = y 28 1 .
“'I""i F1 Fig.1 I %2 Fig.2
BIER [ =& 1 KEEEAR BABEENS
Code Z Module P Fig. Precison grade | Max drive force
SGLP35 20 3.1831 10.0 1 DIN6 18.5KN
SGSP35 20 3.1831 10.0 2 DIN6 18.5KN

22



35 BIEiRm, AR, jEiBE

Size 35 roller for plain roller,Mounting flange,

R,

N

3
S

%

]
{2l

P
Wiper&Iubrication unit |
;_ S
|
m
L‘\_/
kR Plain roller
42
@4.1x4.5
8
S| o28.5
BUER fROE 2P Ga Cow Cw® Cw® Nmax IZHERIER
Code Excenter (pm) (N) (N) (N) (min™) Bolt size
FR35A -3/+5 28800 | 25600 5500 3600 |M16*80 8.8 4k
FR35B -3/+5 32000 | 28400 6150 3600 |M16*80 8.8 4k
CW?® : Normal service life 10°m CW® : Normal service life 10°m
PN Mounting flange

BUgR E= L zich
Code | Weight(kg) Bolt size
KSP35 11 M16*25 8.8 &%
HEE Wiper&lubrication unit

Buge BE IZFETIER
Code | Weight(kg) Bolt size
KSB35 0.1 M6+*25 8.8 &k

23

39
22:0.02
T
© N~
8 2 = S
:TZE’
®1L— ®

15

6.5

256.9

217

8.5

54.5




35 BIEiEH, 8. B

Size 35 guideway flat rail, guideway flat rail

44?
L]

rack,pinion _
e )
©| d
RN > RN &
j 4ﬁYZ§
(3]
47.3 ©
S, Guideway flat rail L
E
= 15,00
Q ; ‘ N
©
o o 4 L) @} @}‘ L)
m 40.5x45° 15 100
34.6
HigE . e | mH gy
Code Material Bolt size
ST3506 630 600 S45C M10*35 8.8 &%
ST3509 930 900 S45C M10+*35 8.8 &4}
ST3510 1230 1200 S45C M10+*35 8.8 &4k
L
ST Guideway flat rail rack E
©l w /,// <
B0 O | O
= g11 < \AAAAAAAAANAAAAAAAAAA AL
I (A A A YAAVAAV v
11 0.5x45°
e T 15 100
BUSR L E TEE )il TEEER S
Code Module Pitch | Precision grade | Material
STGH350606 630 600 3.1831 10.0 DING S45C
STGH350906 930 900 3.1831 10.0 DING S45C
STGH351006 1230 1200 3.1831 10.0 DING S45C
STFH350609 630 600 3.1831 10.0 DIN9 S45C
STFH350909 930 900 3.1831 10.0 DIN9 S45C
STFH351009 1230 1200 3.1831 10.0 DIN9 S45C
o Drive pinion 162 43
A ;,_: S © )
o o < ol © [=1
811 A E 8 e ®
- S WIz] Q oot
I’"lﬁli FE1 Fig.1 - 28 F &2 Fig.2
e B2 ) (] 3 rREER R AREENS]
7
E5% Code Z Module P A Precison grade | Max drive force
SGLP35 20 3.1831 10.0 1 DIN6 18.5KN
SGSP35 20 3.1831 10.0 2 DING6 18.5KN

24



{fiiZ Rl

fRiyERE Eccentric mounting flange
/_J
/< @ D4
e =
= N Tt —til—TI— . = @]
8| 8 :
T
™0
ol 441
Q
B1+0.02 T2
B
18
B3R B Bl D D1 D2°® D3 D4 D5 M® R T T1 T2
Code
KEP15 [ 24.0 145 49.0 26.0 15.0 53 26 36.0 8.0 6.5 125 3.0 6.3
KEP20 [ 29.0 18.0 58.0 30.0 20.0 6.4 26 42.0 10.0 7.5 16.0 3.0 79
KEP25 [ 34.0 20.5 72.0 38.0 25.0 84 41 52.0 120 9.0 21.0 4.5 9.9
KEP35 [ 39.0 22.0 98.0 59.0 40.0 10.5 41 75.0 16.0 12.0 26.0 4.5 123
Holes in the drive plate for the eccentric flange:
P S| =3
~N P I A R il F T
8 g &
T
BUER
Code D D1 D2 T M
KEP15 49 36 26 9.5 5
KEP20 58 42 30 11 6
KEP25 72 52 38 135 8
KEP35 98 75 59 17 10

25




GUIDEWAY SYSTEM
FOR MEDIUM DUTY APPLICATIONS

V BIiEH & Rim

26



30 &
30 BV #. B, ERE

Size 30 roller for guideway V bars. Guideway V bar
Wiper&lubrication unit

V B Roller for guideway V bars 90

% /7,
A

28
:* 8 8 \ SRR
Il A M20x1.5 i M+

2 /
?'III/{

NN 4 A

O

(5]
-
by
(=2}

=i
1
-
[lf\/—‘.’\./l
—N

19.8 | 15 35
73

41 14

A5 i gk | Kw | shie g HixE H R
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)

NU55 0 42000 11900 3900 80 0.6
NU55R Tmm 42000 11900 3900 80 0.6
V E iy Roller for guideway V bars
90°
154
36
oA k=t
VA
i\\\\\‘?&ﬁ‘\\\\l\‘ :H[ ;0 _F—‘ T
65 S [ A~ m2ax1.5 - o7
: é 10 M ¥ l I K & 21
1 )
20.8 | 19 37
83 44 18

A5 e | BERGT | AR | @l HHE HoE
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NU65 0 48000 17000 6900 160 0.9

NUG65R Tmm 48000 17000 6900 160 0.9

27



30 %
30 BV EL, B, HEE NUS5 NUB5
Size 30 roller for guideway V bars. Guideway V bar
Wiper& lubrication unit ©
I ©
™ [32)
NV30+NU55 NV30+NU65
V ELE Guideway V bar
90°
1 /10N
~ | T T } T T — T T
m[%‘ = [T N BN I [ N
3 LT 1 L T
5.7
28 25 25 100 25 25
A5 L E Rk IR Y 56
Code Material Bolt Size
NV3010 1000 950 42CrMo M5 8.8 &k
HEE Wiper&lubrication unit 5 .
G1
\‘- i
5 '
= E
| T\ T —
C
A
e %4 5T Dimensions(mm)
Code D B C E G1 H A
NH3055 6 46 6 70 55 30 80
NH3065 7.5 49 8 85.5 55 37 92

28




/“\__/

40 RV HL., B, BHES "
Size 40 roller for guideway V bars. Guideway V bar
Wiper&lubrication unit

e
V R Roller for guideway V bars 9
15.4
36 ]
k=1
10 Tr—w
f I
A M24x1.5 - 27
1 |
'['k_J
20.8 | 19 37
83 44 18
5k b | Bidkes | &K\ | dEhe g HAE H R
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NU65 0 48000 17000 6900 160 0.9
NU65R Tmm 48000 17000 6900 160 0.9
V Ry Roller for guideway V bars
90"
216
46

‘ 44 2,
s 12 12 e
5 1l 31~ m30x1.5 =

—
— I
=

Ules

27 19 45
100 55 18

itk Oy CUE% i) & 73 il ) 77 HiHE H &
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)

NU75 0 69000 28500 | 10200 300 1.6

NU75R Tmm 69000 28500 | 10200 300 1.6

29



40 7Y
40 ?:?.J‘ V m\ iﬁﬁﬁ\ Wg‘}%ﬁ NU65 NU75
Size 40 roller for guideway V bars. Guideway V bar
Wi per & lubrication unit ~
- ©
< <
NV40+NU65 NV40+NU75
V R, Guideway V bar
90° L
\ > E
1 7 11N
Q © T T T } T T { T T
“9[ % ‘ © ! | L L1 |
3 [T Il I
6.6
35 25 25 100 25 25
il L £ ok LY L
Code Material Bolt Size
NV4010 1000 950 42CrMo M6 8.8 &
NV4020 2000 1950 42CrMo M6 8.8 &
HeE Wiper&lubrication unit
B E
G1
/ \_ I
j F ™
U
a
| T N\
C
A
g Z#% R~} Dimensions(mm)
Code D B C E G1 H A
NH4065 75 49 8 85.5 55 37 92
NH4075 75 59 8 94.5 55 42 102

30



50 & V¥, Bin. HRE
Size 50 roller for guideway V bars. Guideway V bar

Wiper&lubrication unit

V B Roller for guideway V bars 90
55
?"""/4 3 14
\\\\Eﬁ“\\\\‘* Y
9% i — L M36x1.5
30 | 24
115
A58 fOE | Bk | md | sl R H e
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NU95 0 134000 | 29000 12700 450 2.8
NU95R Tmm 134000 | 29000 12700 450 2.8
V B Roller for guideway V bars
90°
55
'/'" ﬂ 56
27z
E\&Y\g;\‘]ﬁ 14
15— [ A m36x1.5
3%.5 ¥ \HA_I. !
34 | 33
135
Al5% L B2 LOE % 118 73 i1 71 HE H 5
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NU115 0 190000 | 45000 17900 450 49
NU115R| 1mm 190000 | 45000 17900 450 49

31

50 Y

246
L:‘]
i
Hﬁi 318
HH
53
62 23
248
|
[/ H
v WS
A | _F—‘ T
- 9\ . | ,(
“H {“ 4l2
60
0 32




50 % VL. B, BEE

Size 50 roller for guideway V bars. Guideway V bar
Wi per & lubrication unit

NU95

50 &

NU11%

60

I G

NV50+NU95

68

I G

NV50+NU115

V RIIE, Guideway V bar
90°
AN
718\
ﬁ F.[ % ‘ T T T { T T
™ - Q L1 L1 \
3 [T I
11
50 25 25 100 25 25
L L £ 7k IS L R
Code Material Bolt Size
NV5010 1000 950 42CrMo M10 8.8 &
NV5020 2000 1950 42CrMo M10 8.8 4
EEE Wiper&lubrication unit
B
Gl
/ \_ T
5 ' 0
5 E
| VT \/ - —
C
A
gk %45 R5F Dimensions(mm)
Code D B C E G1 H A
NH5095 85 66 8 1135 55 50 120
NH50115 8.5 75 8 1335 55 60 140

32



60 B V #l., Wig. HEE
Size 60 roller for guideway V bars. Guideway V bar
Wiper & lubrication unit

60%!

1135
V AU, Guideway V bar
P 00°
AN
7/ 18\ ‘ ‘ ‘
Sy A S HEEEE B AR
3 L T L7 I I
11
62 25 25 100 25 25
it L £ MRk WAL TR 5
Code Material Bolt Size
NV6010 1000 950 42CrMo M10 8.8 &
NV6020 2000 1950 42CrMo M10 8.8 &
U E
A N~
B N
M
p Fi
[ ( ,
NAG62
e ol - /
e C
U E E
N
NA64
bk 2% R~F (Dimensions(mm) CHIE ) 10 7 iif[r1] /3
Code Cw(N) Fr(N) Fa(N)
A B C P M E U F Z
NA6252 136 90 56 54 70 40 8 M8 47 59000 16800 8400
NA6452 136 90 112 54 70 48 8 M8 47 118000 33600 16800
NA6275 170 125 76 56 85 56 10 M12 70 99000 44200 22100
NA6475 170 125 152 56 85 66 10 M12 70 198000 88400 44200
*NA6252 NAB452 85mm

33



80 R VH. Hin. HESR
Size 80 roller for guideway V bars. Guideway V bar
Wiper & lubrication unit

807

V B, Guideway V bar
90° L
E
/ 20N\
o T T } T T { T T { T T
$ﬁ]%‘ S [ N \\\/\\\\\\
3 L 0T L7 I Iyl
135
80 25 25 100 25 25
A5 L E Rk I A 5%
Code Material Bolt Size
NV8010 1000 950 42CrMo M12 8.8 &
NV8020 2000 1950 42CrMo M12 8.8 &
c
u E
o CN N
A N
B
M
p Fi
| @ NA82
e olll
C
)
u E E
N
NA84
R= 3 R~ (Dimensions(mm) CIIE ) 15 7 iify [ 7
Code Cw(N) Fr(N) Fa(N)
A B C P M E U F Z
NA82115 | 243 170 250 80 120 95 15 M14 93 275000 78600 39300
NA84115 | 243 170 250 80 120 | 110 | 15 M14 93 550000 | 157200 78600

34




90 BV HL. iR, HIRE
Size 90 roller for guideway V bars. Guideway V bar
Wiper& lubrication unit

Guideway V bar

90 #Y

E
° 25 | 25 100
//
sk %/\'\.% ///_/
= - NN 4 Pany /] AN
2 ) \J A\ 4 N\ /] W W
g ////
& /]
12
— 100 25 | 25
il Rk e A 5
Code L E Material Bolt Size
NV90102 1000 950 42CrMo M12 8.8 &
NV90202 2000 1950 42CrMo M12 8.8 #k
V i Guideway V bar
L
E
o 100
& s M ] )
3 3 SO O DO RS,
;T 7 i ‘
IEI 25 | 25 100 25 | 25
A gE Rk I AU 5
L E . .
Code Material Bolt Size
NV90101 1000 950 42CrMo M12 8.8 &
NV90201 2000 1950 42CrMo M12 8.8 #k

35




90 B V@, Him. MEE
Size 90 roller for guideway V bars. Guideway V bar
Wiper&lubrication unit

90 &

13.4

35

41

14

128
80°
| 30
; 28
B & 2 B 8
== H = l
B H-m20x1.5
g |
1 ! -
i
l 198 | 15
73
A5k it B A (=l ) 5 HisE B E
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NY52 0 41000 11900 4800 80 0.6
NY52R Tmm 41000 11900 4800 80 0.6
V R Roller for guideway V bars 80"
!
0
EN
52 3\0 2|

T5% Bl | BEdy | WA | E &
Code Cw(N) Fr(N) Fa(N) (kg)
NF52 41000 11900 4800 0.5

1FH5

36



100 &
100 BV #l. Hin. BHEE
Size 100 roller for guideway V bars. Guideway V bar
Wiper & lubrication unit

E
8 25| 25 100
//
g 3
o &1 m’\'\ /_///
< N DM ¢ M /] O
=1 =1 \d U 4 N\ //// W W
/]
B //
15|
— 100 25 | 25
A gE Rk I A 5%
L E
Code Material Bolt Size
NV100102 1000 950 42CrMo M12 8.8 &
NV100202 2000 1950 42CrMo M12 8.8 4%
V J ], Guideway V bar
L
E
5 100
2 gl T
A OO O/ 00O
N 5] e 7l
15 25 | 25 100 25 | 25
L Rk e A5
L E
Code Material Bolt Size
NV100101 1000 950 42CrMo M12 8.8 &
NV100201 2000 1950 42CrMo M12 8.8 %%

37



100 % V . k. HEA -
Size 100 roller for guideway V bars. Guideway V bar
Wiper & lubrication unit 149

V B Roller for guideway V bars
80°
15.4
| 36
! 35
L 10
=
62 l T \ & M214Xl.5
221 !
LI B
i
I 208 | 19
83
AL5E i | B | AR | Eha g s HoE
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NY62 0 46000 19000 8300 160 09
NY62R Tmm 46000 19000 8300 160 0.9
V B Roller for guideway V bars 80’

-
3

AN

B
zt
o

ik B e sy | HE &
Code Cw(N) Fr(N) Fa(N) (kg)

NF62 46000 19000 8300 0.6

38



120 UV 8. Wi, A 1203

Size 120 roller for guideway V bars. Guideway V bar
Wiper& lubrication unit

V FEE Guideway V bar L
E
18, 25| 25 100 25 | 25
o
% ////
AW4AAY S (D) (M D
A y D i DAY/
] I
/]
N § 3 4 /_///6‘5
VY A Ve
. DAY, D i NPAW, 3
™ ////
100
g ok LY el
L E
Code Material Bolt Size
NV120102 1000 950 42CrMo M16 8.8 #
NV120202 2000 1950 42CrMo M16 8.8 &
\RHECL ] Guideway V bar
L
E
50 100
A i
2 % N D) 3 O b -0
B © °T Oy oy YT U
« %] hi
IEI 25 | 25 100 25 | 25

A gR R A Y 5
Code L E Material Bolt Size
NV120101 1000 950 42CrMo M16 8.8 #
NV120201 2000 1950 42CrMo M16 8.8 &

39



120 B V #. Hig. BES

Size 120 roller for guideway V bars. Guideway V bar

Wiper&lubrication unit

Ujﬂnj 120 &

85

V By Roller for guideway V bars
80
| 46
; 44
o 22 e B 12
72 l E—T T = M3l0x1.5
251.5_ : -
!
I 27 19
100
g s | BT | AR | Eha g R #H =
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NY72 0 66000 30000 12300 300 1.6
NY72R Tmm 66000 30000 12300 300 1.6
V R Roller for guideway V bars 80°
|
Ev
72 44 3 |
l l : ]| 25,5
L
[N/
28
45
+0
56-01
Hl5E e | KR | W G
Code Cw(N) Fr(N) Fa(N) (kg)
NF72 66000 30000 12300 1.2

2|5H8

40



GUIDEWAY SYSTEM
FOR HEAVY DUTY APPLICATIONS

EHEH & iRiRE

42



EHRENEERFIRRRRA
EHRENEGEIRR

EHRENEFESFROEREN. RENER RESHG  BRRESEERA. AT RRERMEMEA
A AR A S LN EAREED.

AHRPURIERIS 40,52,62,72,90 AfERSE R TEBEFERERITE  BIRIR CP k. MEEMEIIRRIEEX
B8R A HRC50-55,

Guideway systems for heavy duty applications

Guideway systems for heavy duty applications includes guideway flat rail,guideway flat rail rack,rollers support,etc.It
can be used for truss robot mobile platform,as well as the seventh axis of the robot.

Our standard code includes 40,52,72,90 sizes.To avoid cumulative pitch tolerance due to n,we use CP racks.the
guideways are inductioned hardened to HRC50-55.

Grease pump

Drive pate

Roller unit

Tubular alu profile with guideways

Roller unit

Grease pump

Dispenser

Gearbox

Tubular steel profile with guideways Drive plate

43



Rz

EET LRI TEE | AEBFFENEH RSN
ABHERE, X195 TEERS® 10°m(1000
NB) BETRBHEAH . BMRIRPHBLE
T Con F1C,(10°m) BB, K2 BAHHZENR
1600Nmm ™ BSEERTAT .

TEZAZHMNEBOBRT  F2%546 BRI
BER  sERARMIEH.

H TR FRER AR ORITRR L.

_— HERREMAES LN TRASTHEQSHETHEALT

KGB40:7KN KGB52:12KN KGB62:13KN

KGB72:17KN KGB90:33KN

Size selection

This data allows for a rough selection of the
size of the required guideway system.The
Cw value are listed in table 1 for a nominal
service life of 10°m(1000km),and refer to a
roller with radial loading.In the dimensional
tables for the rollers,the values for Cg, and Cw

(10%m) are also given.Table 2 indicates the
load values for an admissible Hertzian stress
of 1600 Nmm™,

In case of combined loading and shock,the
calculation data on page 30 must be
consulted,or a calculation verification can
be requested from the manufacturer.The
main loads are to be taken by track rollers
without eccentric hub.In case of suspended
arrangement the maximum admissible radial
load has to be reduced to the following values.

KGB40:7KN KGB52:12KN KGB62:13KN

KGB72:17KN KGB90:33KN

EHRENSEERARISRE

Size selection

Cy (10°m)
KN

50

40

30

20

40 52 62 72 90
#1/Tablel 5% /Code
P
KN
40
30
20
10
0
40 52 62 72 90
22/Table2 5% /Code

44



REShSiRE
ﬁﬁ%ﬁ%@%uﬁ,%ﬁ@ﬁ@ﬁﬁﬁ%ﬁﬂ%ﬁ%@bﬂmﬁ

. LLERRS HAYSIR BN ERE). s RFMEREILE

WEREREDREEHES: > 14, HzkB N L2 HEEE

S, 2 1.0.

TEFEH S ~ 1.0.4.0 , HAFRIBEHERN. E5|7FN &
EREREREl Z Bk,

Fig. @

Size selection

After selecting the rack,the gear teeth of the guideway system
must be checked for compatibility with the required drive forces
and torques.

The rack can be supplied precision cut or hardened and ground.

The values given are values for shock-free operation,good
lubrication and stiff arrangement of the pinion.

A safety factor for tooth root stress S;>1.4 and a safety factor
for Hertzian stress S,,>1.0 is taken in account.

Depending on your experience and application a safety factor
Sg=1.0...4.0 has to be considered.

The tracking force FN is related to the nhumber of teeth Z of the
pinion

45

EH RS EFEESNRIE

Selection of drive forces

FN

A//// A KN

25

20

15

10

40 52 62 72 90
5% /Code

Fig.1 B Fig2

Fn

™
A KN

N 1400

1200

1000

800

600

200

40 52 62 72 90

E

5% /Code

Fig.1 B rFig2



ERIFERD

SEEER FToRE TR, (ERASWE
BESEWERE , 90% LA LSRRI LUE
FzEE. FAE® Lhh) NESEETLRIRER
REFANTIIRERETE.

SRS R RRB D

Size verification

The calculation must be done for the roller
under the highest load.The life time values
calculated are nominal.90% of all rollers
reach these values.The service life Lh (h)
hours can be calculated according to the

average speed of the roller.

Fr: SMEREMES (KN ) External radical force per roller(KN )
P. EE&h&E (KN) Equivalent dynamic load(KN)

Cw: BREASHAKE  Effective basic dynamic load rating(KN)

L: 88 E=dp Nominal life time(m)
Kr: RJ{&E] Size factor
f: EEMREL Load factor
e EeE Uniform shocks:1.0...1.2
R EEE Moderate shocks:1.2...1.5
BAEHE Heavy shocks:1.5..2.5
fs: ERETEHEREL Static loading factor
Cow: RABIFERRERA N Max.admissible static radial force(KN)
P=Fr (KN)
Pw=f"P (KN)
C 10
I-=Kr‘(ﬁ”L)3 -10° (m)
w
fs=0.7 5 fs>1
GBR/GER Cw(KN) Kr
40 13.2 1.257
52 24.2 1.634
62 35.0 1.948
72 38.5 2.262
90 63.0 2.827

46



EHRSNERRRRE
RE

HMIERAITEREEE GER (RUKERE. (EQ) ERANAEIRTE  BEfIFamsEfRORT. ERAERFEER
.GBR RZFIBSRFEROERT.

HAEBRRRASFEOEE —EEEVE. MORMEHZBIRREEY. BARELTEER.

fmliEm  FFOREEROEEMR) , BORAZRRMN.

Assembly

The backlash setting and the pre-tensioning of the rollers take place via the eccentric hub of the rollers of the series
GER (Fig. @ )By using an Allen key the eccentric of the roller can be turned and preloaded.The nuts are tightened by
using a torque wrench.The rollers of the series GBR are in concentric version.

47



[@]

©1 @]

RRTRE AR

1 BEREROM@RNZE. FFERRQ MO ©rIRE.
AR O BEER/IMIE.

2. BEIQOMORIR LR, AEEEIEZIRR,
3. T SR E BRE R

4. HEBIFERER | BERROEIIRmEAMB
HIEE XER. FiF, SRERT.,

5. BEETH

6. HEGKREIR : ZFRIRRG  AERESROHE 50
$REER e Z = 0.10mm ( AREEFER -0.07mm) . B4
RECSER ERONE X WES.

7. B2 R UREEUERFE Z = 0.10mm,

8. METAR N | EEHATRRY/ARCRIEERNDEE , W
SR sEEE) , RIFFIRIRO , © , ©FBXHEE,

Adjustment of preload of rollers

1.Tighten the nuts of the rollers @ and @ .Loosen
the nuts of the rollers @, ® and ®, ® .Turn the
eccentric hubs to teh minimal position.

2.Turn the eccentrics of the rollers @ and &) .Then
tighten the nuts gently.

3.Position the dial gauge adjacent to the drive pinion.

4. Align the carriage and eliminate backlash:Adjust
rollers ® until the measurement X of the roller
supports A and B are identical.At the same time,the
tooth backlash must be zero.

5.Reset the dial gauge.

6.Adjust the backlash clearance:Loosen rollers (3
and subsequently turn the eccetric hubs so that the
dial gauge displays 2 Z =0.10mm(results in a backlash
clearance o f -0.07mm).The measurement X must be
equal again on both roller supports.

7.Tighten the eccentric rollers while the value 2 Z =
0.10mm is maintained.

8.check the pre-tensioning:Rollers that are not under
load must be able to turn using moderate force.If they
are not free,loosen rollers @ , ® , ® and adjust them
again.

48



40 BYiRimiH

40 BiEER R ( AfEISZEE ) Roller support (right hand version)
A
25— 4x@9
L/
2 N
I 2x@8H7
5 o
N
11.5 97
A
11.5
¢ 3x @0 3x@15x20
N R L @
Pl 9By R
I B 1
m , i
i - i
R /1 T
) 4 A 4 G;) H: I
””” REEE S — N\H :‘q
,,,,,, RS O RN 20
50 4x@9
2x@8H7 \ 3x@15%20
BlgR =EM G C® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB40.1R GBR GER GER 2.5 13800 7000 1800 5000
KGB40.2R GBR GER GBR 2.5 13800 7000 1800 5000
KGB40.3R GER GBR GER 2.5 13800 7000 1800 5000
CW® : Normal service life 10°m  CW@ : Normal service life 10°m
1B R Stud roller
g - fROE = LS g lii]
1
Cio’fe g Excenter Weight MA
i (mm) (kg) (Nm)
GBR40 1 - 0.25 87
GER40 2 1 0.25 87
8 20
2 8 9 A
3 p
@30
“}E 0
o = e[ B & .
¢ “EI\JI SIS E
8 \_X _J
4 12, 19 L
A
08 36.5 2
58 FH Fig.1 ED Fig.2

49




15 97
LT &
. Tr ® = W‘é\
@ N V.J. 2x@8HT
8 L
=1 HY Y 4x@9
i
A
120
11.5 o7
3x@15x20 P o
iM
PN e S
: ©
(Y. = R
T ) T (4@ B T ~
‘: rs b
i SR -
L V\ 45 \ A4 - A -
A —
P::H &\‘JJ : =mazsch }& o
a9 e —— F i
4xg 50
3x@15x20  2x@8HT
BUEE HEM Com Cw® G2 Nmax
Code @ ® ® (kg) (N) (N) (N) (min)
KGB40.1R GBR GER GER 2.5 13800 7000 1800 5000
KGB40.2R GBR GER GBR 2.5 13800 7000 1800 5000
KGB40.3R GER GBR GER 2.5 13800 7000 1800 5000
CW?® : Normal service life 10°m CW® : Normal service life 10°m
[ifils Accessories
19
M8 315
7P 1
Z TE e
1
_ . =
F. Ml | Weight
(kg)
(@) C45 0.01
® EE ®
6 Q3458

50



40 BREHLEE

40 BUEH

51

55+0.02

N

29

0.5;03x45°

15+0.02

80+0.02

N

29

0.5;03x45°

15+0.02

40 guideway flat rail mounting dimensions

48

15

24

55

105

40 Guideway flat rail

g ] 9 L b
Code Material Bolt size
KGT40103 1000 900 42CrMo M8x20 8.8 4K
1000
900
]|
i
f
i
OC )| >©
;OO © o ©
T |
1T
25 25 100 25 25
BuER L L1 oy 12 RISE
Code Material Bolt size
KGT40102 1000 900 42CrMo M8x20 8.8 4%
1000
900
] L
i
!
'
Q¢ oY) O
T T OO QO ©
Y [
il
1T
25 25 100 25 25




40 ZREH. &R HERTEE

40 guideway flat rail,rack,pinon mounting dimensions

418 i ‘ .
i ! !
1 i e~ | T |
| ! e 1 | + H
— a 07777 7
b 29 45 29
80 55 80
130 112.65 137.65
Baf% rack
BEE | | g | #® | @mEP | FIT SR ORISR
Code Module | (mm ) | Material | Precision grade Bolt size
KGS40129 | 1200 | 1100 | 3.1831 10.0 S45C DIN9 M8x35 8.8 %
KGS40209 | 2000 | 1900 | 3.1831 10.0 S45C DIN9 M8x35 8.8
L
L1
/, / IIII
@) @ ) D ) |2
I Q} } @» ,/,/ @ @) @) Q
15 o9 AAANAAAAAAAAAAAAAALAANAAAAAAAAAAAAANAA
291‘002—- 17_0 YUY VU UV UUOUUOUOUUuUVvY Ifll\l\l\l\l\l\l\l\l\l\l\l \"AA A "A"4
9 0.5;03x45° 25 | 25 100 25_| 25
29:0.05
(2L Drive pinion
B | | s YRS i
Code z Module P Fig. Precison grade Kg
SGLP40-CP10| 20 3.1831 10.0 1 DING6 1.95
SGSP40-CP10| 20 3.1831 10.0 2 DIN6 0.9
162 43
279.7577 132.5 29.5 .
g8 N 2 3 g o
o e« 4-----4 - __ o ____ __ U o ™ |+ - __ 1 Yol
| © Q N ~ © Q
8 8 S STERS B15HT
g }
112.5
i Fig.1 [#p Fig.2

52



52 BYimEmaA

52 BREmsRE ( AfAIsZEE ) Roller support (right hand version)
. A
o A 385
. :.. . ®
( PN
125 i
(] ©) @ ‘G)‘
:
“©
7 ® 125 125
=
A
150
77 125 125
125 &5 | - ¢ 3x@11 3x@18x25
KL —— a8 | + *
e PN o = =
IR v CEER NS e ) @
B Rer BT Be)
f . | e 7/
0| =) ] AN ! 1
8 3 ¢L — g - D~ { 4
N i 1 T
& «@3 - L S————. N AN ]
,,,,,, N T Y
RO g, @) —\Si & = R @&;/ &:q
211
56 4xZ11
2x@BH7 \ 3x@18x25
BlgR =EM Cas Cy® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB52.1R GBR GER GER 4 28000 14000 3500 3800
KGB52.2R GBR GER GBR 4 28000 14000 3500 3800
KGB52.3R GER GBR GER 4 28000 14000 3500 3800
CW® : Normal service life 10°m  CW@ : Normal service life 10°m
IR BTG Stud roller
g RS = BB AR
y
%ﬁ Excenter Weight MA
g (mm) (kg) (Nm)
GBR52 1 - 0.47 120
GER52 2 1 0.47 120
S 2
g [_9‘ 10
o
8 Oyl = Eran
I [ g kJ
10 \_X
18 || 21
0.8 40.5 30
66
FH Fig.1 P Fig.2

53



125 125
Y o
N Ir ® P
U T ﬁh‘ﬁ\fé.\ 2x@8H7
8 | )
N N 4xF11
12.9 i
A
150
125 125
3P18x25 4.0 -
125
& e T e of [
s\ N o
g \Qy/ m ——e +- Bia A — j
] 1 — f L 2N 1sl L .
i U . . -i i N S) y Y o &
L T b R 4 J@ 4 =L
T 7 0 PRI NIV B e
| N A V% & T
o4 \ s O Q@ .
4x@1 56
3%@18x25/ 2x@8HT,
HugE HEM G Cy® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB52.1L GBR GER GER 4 28000 14000 3500 3800
KGB52.2L GBR GER GBR 4 28000 14000 3500 3800
KGB52.3L GER GBR GER 4 28000 14000 3500 3800
CW® : Normal service life 10°m CW® : Normal service life 10°m
ity Accessories
24
'ML 218
Vz e W A
{ j N
,
- N =
F. Ml | Weight
(kg)
1 C45 0.01
2 ES) ®
3 Q345B

54



52 AR

52 BEHREH

70+0.02

52 guideway flat rail mounting dimensions

57.5

20

25

11

0.5¢23x45°

20+0.02

80+0.02

E
N

211

0.5:03x45°

20+0.02

55

35
70
126
52 Guideway flat rail
BUER L L1 %t 124 RIEE
Code Material Bolt size
KGT52101 1000 900 42CrMo | M10x25 8.8 4%
1000
900
Iy
|
!
/i
Q¢ @ © D@
QO )
i
1T
25 25 100 25 25
BUER L L1 gy 12FeRISE
Code Material Bolt size
KGT52102 1000 900 42CrMo | M10x25 8.8 4%
1000
900
| |
i
f
|
Q¢ ©) D@
T OO [ © ©
Y [
/|
1T
25 25 100 25 25




52 BUREE. BN, SERE

52 guideway flat rail,rack,pinon mounting dimensions

A

— 1 ; —
57.5 _' ‘ _|_r s
; mnil RN BNV —
" 777
] 45 - - _—
|35_|_ 39 45 39
80 70 80
134.07 144.07
iR rack
BUER L L1 2 #58E P 7p = BEER TS
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS52129 | 1200 | 1100 | 3.9789 125 S45C DIN9 M10x40 8.8 4%
KGS52209 | 2000 | 1900 | 3.9789 12.5 S45C DIN9 M10x40 8.8 4%
L
L1
— /L
W= ©© ®/® 00 |
=] i [t}
+ @1 [Xe)
%_0 //// % N \AAAA‘NV\MMANW//AAAAI\AAI\AAA N N “
AT AAY AL " A" 4 /"IV\I\IVVVVVVVV \"A"A A"
\ 0.5¢03x45°
11 25 25 100 25 25
39:0.05
BRI Drive pinion
ik sy | EE | i SR il
Code z Module P Fig. Precison grade Kg
SGLP52-CP10| 14 3.9789 125 1 DIN6 5.0
-
““ﬁm . SGSP52-CP10| 20 3.9789 12.5 2 DIN6 1.8
196 60
40 156 40 .
Yo} < [ee}
431 | 9 &£ R I I N
g ® ° S § s oaorT
—— !
118,_|
£l Fig.1 [&2 Fig.2

56



62 BliRimtE

57

62 BUiTERsIRE (AfRISZEE ) Roller support (right hand version)
A
4xM12
N DT
< =
70
g !
8 25 ©|
(=] <
o) -
3 ) ;
O 2221017/ N
Ite) LO|
™)
80 20
120
Ay
91 120
80 2
st i e o e
I S 2x@10H7] | I \
| . o} ~*%lo | I AN
L e [ 1.8 HiEBH | ((9) i
1 j 4 70 W5l o 2 I = \\ o—fp ©
| } <] =1 | 8 Z
| ; S ! At
| * PRy ELPI Y ml S
| e 1 ™~
1 A : ==y IR/
\ \ N S fﬁ/ 15 \\Q_), /
R1000 28
il BEEM Cary C® C® Nmax
Code @ @ ® (k) (N) (N) (N) (min™)
KGB62.1R GBR GER GER 7 39500 21400 5400 2200
KGB62.2R GBR GER GBR 7 39500 21400 5400 2200
KGB62.3R GER GBR GER 7 39500 21400 5400 2200
CW® : Normal service life 10°m CW® : Normal service life 10°m
IR R Stud roller
- RO 2 [ aSsE Sy lii)
18,
(%‘Jf‘e g Excenter Weight MA
' (mm) (kg) (Nm)
GBR62 1 -- 0.82 220
GER62 2 1 0.82 220
8
g 28 ; 1
% = =g X f\ P 1 -
oo, [ % &J ]
1 s o
22 || 25 L
1.3 495 36
80
1 Fig.1 [P Fig.2




™ i

Roller support (left hand version)

4xM12 A
Y o
U~ N4
w B |
Q 25 ' 8
©
A
N & \2xa10H7| &
0 [T}
™
20 80
120
| A
120 91
20 80
| 5 o H o Cor 1
I T T l' e o 1T T T :
| wn
(5 88 ] . 0 N ® =l
\/ | 1 Q -]. — |
g a e LN/ | | — ' A T L ' !
QS | @
© ] <Q ol ] [
~ - N ¥ Qy [
7 i Tz - |
41 =)
) 53 o N L
) ] ° S /

28

R1000
BugE HEM Caw C® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB62.1L GBR GER GER 7 39500 21400 5400 2200
KGB62.2L GBR GER GBR 7 39500 21400 5400 2200
KGB62.3L GER GBR GER 7 39500 21400 5400 2200
CW® : Normal service life 10°m CW® : Normal service life 10°m
(il Accessories
18,
Ciosc,iﬁe Weight
(kg)
KA62R 03 %
KAG2L 0.3
27

58



62 ARSI

62 BEHREH

62 guideway flat rail mounting dimensions

777;7777"77 7:i;J
e ‘ 80

ﬁ”l“%*ﬁ| [
— + l @

N
AN
.70 |
161

62 Guideway flat rail

BUER L L1 T 2RISR
Code Material Bolt size
KGT62101 1000 900 42CrMo M10x25 8.8 4%
L
L1
== J L
; i
4 ’/
& \/ i i i
b= !
00 > | © Y6
9] o~ |
/, - .’f
+0.3 o
11 | 050 "x48" 25 | 25 100 25 | 25
20+0.02
Bug L L1 Tt IR RISE
Code Material Bolt size
KGT62102 1000 900 42CrMo | M10x25 8.8 4k
L
L1
77 l' f
7 i
g 7 ]
1. fa 0 ;] ) )
3 1% OO oo ©©
318 1911 & {
1 0.5+)3x45° 25_|_25 100 25_|.25
20+0.02

59



62 B, iR, thimsitE 62 guideway flat rail,rack,pinon mounting dimensions

e [ i—{
[ — e [ —
CT i 80 T
= ol b= JJ =
i 1 ! 1 (T3] ‘ i | Sl 1 !
: ‘ . 20 :
! ‘ 1 t ' | 1 : === ZS ; | |
| Pk Ho ] * e o
(=N I . o
X L T
L L
45
70 139 0 80 39
144.81 171 154.81
A% rack
BUSR L L1 =& BalE P 75 TEEER iRt RISR
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS62109 | 1000 | 900 3.9789 125 S45C DIN9 M10x45 8.8 4%
KGS62209 | 2000 | 1900 | 3.9789 125 S45C DIN9 M10x45 8.8 4%
L
L1
— /L
= ) @ © 0O |;
[=} il [*)
+ 1 [Xe)
%Q—O //// % N \I\I\I\A‘NV\MMAN‘%//I\I\I\I\I\I\I\I\I\AI\ N A\ °
AT AAY AL " A" 4 /llvvvvvvvvvvv \"A"A A"
\ 0.5;0-3x45°
11 25 25 100 25 | 25
39:0.05
(L0 Drive pinion
Blg EH | s | s YRS Weight
Code z Module P Fig. Precison grade Kg
SGLP62-CP10| 20 3.9789 125 1 DING6 6.0
Hygy 0 SGSP62-CP10| 20 | 39789 | 125 | 2 DIN6 18
239 60
40 199 40 .
2 o £ 3 8 "
s & | g 521 | |§
S = 8 = @30H7
. |
20
& Fig.1 KPR Fig.2

60



72 BiRimtE

72 BiRERSIRE ( AfAISZEE ) Roller support (right hand version)
A
4xM12)
O ©
2x@10H7
°
Pan AR 3 o
g D S
) Vi
9 |9 ©
[V
15 100
A
130 90
15 100
% o =t f -
| /—"\ i ‘ Y to o —r® (e’
—
[ & L [2x@10H7 8 g9 FH
] \ @ 1) 8 g w HAD N <
-~ N8 A\ q i#
© \“\/ . 3’! B ,t
S 4xM12
J = © \‘ 3 ®
TN 15 1
- /(“ FH Q LI \ o
(&) . &,
N A
28 — R100§ ~
HigE =EM G C® C® Nmax
Code @ ® ® (kg) (N) (N) (N) (min")
KGB72.1R GBR GER GER 9 46500 24600 6200 2200
KGB72.2R GBR GER GBR 9 46500 24600 6200 2200
KGB72.3R GER GBR GER 9 46500 24600 6200 2200
CW?® : Normal service life 10°m CW@ : Normal service life 10°m
12 R g Stud roller
_ fROE = IRRHEEEE
1,
C%scjf"é F Excenter Weight MA
‘ (mm) (kg) (Nm)
GBR72 1 -- 1.05 220
GER72 2 1 1.05 220
S 28
2 11 12 A
Y [— E —
S = e R ¥ i
—_l L] N [ (-
= KJ £
14 ‘\ ) ~—_ LA
22 25
1.3 49.5 36 L’K
80
A Fig.1 IR Fig.2

61



: 'ﬁlmni

72 Blesinsy e (ARISZEE ) RoIIer support (left hand version)
A
0 Y N
S am12 Y
° 5]
{) J7x®1OH \\ g 8
OT%\ W pli IS
o —3 G
e Y O
\J A4 o
Oy
15 100
A
1%0 90
15, 100
= 9 T § S T
‘ SR saanl o Q| =
”" 2x10H7 o o
154 () I 1 § b N g N @ H
N AN| WO
o A NNEEERS: S H
~ N 0 4xM12
J At O D =] ®
A4 A" ™|
TN 15 1
/(n o e Q 1 I \ °
\/ S \
/) )
2 =~ RI000™
HigE HEM G Cy® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB72.1L GBR GER GER 9 46500 24600 6200 2200
KGB72.2L GBR GER GBR 9 46500 24600 6200 2200
KGB72.3L GER GBR GER 9 46500 24600 6200 2200
CW® : Normal service life 10°m CW®@ : Normal service life 10°m
(il Accessories
g =
ngfi Weight
o s
KA72R 0.3
KA72L 0.3 27

62



63

80+0.02

20

30+0.02

72 Guideway flat rail

120+0.02

220

13

BUEE L L1 7y 2RSS
Code Material Bolt size
KGT72101 1000 900 42CrMo M12x35 8.8 4%
KGT72201 2000 1900 42CrMo M12x35 8.8 4%
L
L1
i
| 1
| !j
A 1A Nz
+ & © © O © O
?13.5 9 I
j
1 0.5+)%x45° | 25 | 25 100 25 | 25
pitloid L L1 Tk 12reRISE
Code Material Bolt size
KGT72102 1000 900 42CrMo | M12x35 8.8 4%
KGT72202 2000 1900 42CrMo | M12x35 8.8 4%
L
L1
””” 1 /L
| I
| I
I
~ 00 ©0 00
© N> I\
N r i
~ 00 ©©0 00
%) Y/
213.5 & N4 I
0.550-3x45° :
25 | 25 100 25 | 25
30+0.02




72 BEH. tEi%. SRREE

115.81

72 guideway flat rail,rack,pinon mounting dimensions

4 - I | !
FEE
i ‘
L IRE
T ZX7ZLA

155.81

==
R

90

| e
4
L

ﬂjlﬂ
|

75
120 -
210 210
B % Guideway flat rail rack
ull Lo | mm | mmEP | me | mEse i
Code Module | (mm ) | Material |Precision grade Bolt size
KGK721019 | 1000| 900 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
KGK722019 | 2000 | 1900 | 3.9789 125 S45C DIN9 M12x35 8.8 4%
L
L1
v 1/
N \ 1 /i
o I N
2 Vran\Va / g
I = 4 e DO |~
- E ®135 o Y 7Y.A_/ ’b’ A\VARW A w A W U \W AW \J/—\\Jr \Jr\\Jf-\\Jr\\J/
m 25 | 25 25 | 25
30+0.02
BUEE L L1 1HE B5EE P A%t EEER 12 RISE
Code Module | (mm ) | Material |Precision grade Bolt size
KGK721029 ( 1000| 900 | 3.9789 12.5 S45C DIN9 M12x35 8.8 4%
KGK722029 | 2000 | 1900 | 3.9789 12.5 S45C DIN9 M12x35 8.8 4%
L
L1
77 ’
1 1 I
\ \ §
N I
2 I S
2 i \Va A A NA) | 2
S o35 OO I QO |-
N,
| . N ) N (7
J : 0, )
13 == 05°%x45° B :\JA]L A - lwé-;”
30¢0.02

64



iR rack
mg || g | mm |mmP| ome | mEse g
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS72109 | 1000 | 900 3.9789 125 S45C DIN9 M10x45 8.8 2%
KGS72209 | 2000 | 1900 | 3.9789 125 S45C DIN9 M10x45 8.8 %
L
L1
— /L
T T oY) ©6 00
[=) I [to)
+ 1 [Xe)
%Q_O //// % N \AI\I\A‘NV\MMAN‘%/!I\I\I\I\I\I\I\I\I\AI\ N N ©
AV AR v AL 'E "] /llvvvvvvvvvvv WO
\ 0.5;0-3x45°
11 25 25 100 25 25
39+0.05
BaER Drive pinion
BugE e | R #5IE BESE Weight
= Code YA Module P Fig. Precison grade Kg
N - SGLP72-CP10 20 3.9789 125 1 DIN6 6.0
gy SGSP72-CP10| 20 | 39789 | 125 | 2 DIN6 18
239 60
40 199 40 :
i 2 g 38 o
N o B B | _—— = = N o +— - —1
o N Q Ny o ~ Q
8 8 ® 8 9 B30H7
S !
126,
1 Fig.1 2 Fig.2

65



90 BliRémiE

90 BimEmsRE ( AfRIsZEE ) Roller support (right hand version)
A
— o AxM16
Y1 2xe12071"T
°
o
i i ©
- —
(=]
[ 5] ®
27.5 130 175
A
107 1£5
130 175
1 1 1 1 1 !
ST T ; T T e |
o |7 [axo12H ¥ lers \
a| 8 & J g (AN o
o € 1) O 13 & <
d D O o & k‘ [ J
ag ﬁf@ - s =) >3
4xM16 o
. i ® [ . |
18] 2N
o N | S ;H ﬁ\ \
AN : &)
Q\
2 R1000 \/ 35
BigE BEEM Cam GC® G Nmax
Code @ @ ® (kg) (N) (N) (N) (min™)
KGB90.1R GBR GER GER 15 82000 43100 10800 1800
KGB90.2R GBR GER GBR 15 82000 43100 10800 1800
KGB90.3R GER GBR GER 15 82000 43100 10800 1800
CW?® : Normal service life 10°m CW? : Normal service life 10°m
IZt RIS Stud roller
= fROE = IRRHEE IR
1 = !
ng’i F Excenter Weight MA
g (mm) (kg) (Nm)
GBR90 1 -- 2.02 450
GER90 2 1 2.02 450
S 35
(=]
z ‘ 14.5 ;15:
e o= == e TN
4 g
= H4g 1
14 ‘ A
29 || 32
1 63 46
100
FH Fig.1 R Fig.2

66



90 BUiESimsRE ( ZERISZEE ) Roller support (left hand version)
A
17.5 130
M N [ O
G Pxg1207 [V
° (=] 0|
© SRm sl o=
TG
N &
N4 @
275
b
185 107
17.5 130
L 1 I Il Il
: | I 1 ;
i = (1l _ o ol L,_._” HIEKY
(T . N e
S 5 1} Q8 g 3 % =
| e AN ) 7 b H5—
@ [—= 2 4xM14
J g [ o e s .
L
- 18
/ O\ § | C’“ \ o
\/) L )
.35 ~ R1000~
BugE HEM Caw C® C® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGB90.1R GBR GER GER 15 82000 43100 10800 1800
KGB90.2R GBR GER GBR 15 82000 43100 10800 1800
KGB90.3R GER GBR GER 15 82000 43100 10800 1800
CW® : Normal service life 10°m CW?® : Normal service life 10°m
[ilsia Accessories
n =
C%Sfe Weight
(ka)
KA90R 04
KA90L 04

67




90 BUEEiREH

77\
17
N 17t
o
S
8 s
@20 213.5
0.5+°x45°
13
40#0.02

> 7!

i

i i
N
o
o

S 1 1
o

220 @13.5
13 0.5¢%x45°
40+0.02

90 Guideway flat rail

Yo}
AN

ull . 9 L g
Code Material Bolt size
KGT90101 1000 900 42CrMo | M12x45 8.8 4%
KGT90201 2000 1900 42CrMo | M12x45 8.8 4%
L
L1
f
I
1
j ’ ()
® © ol e QO
j
25 | 25 100 25 | 25
0 g IZfeRISE
85K Code L L Material Bolt size
KGT90102 1000 900 42CrMo | M12x45 8.8 &k
KGT90202 2000 1900 42CrMo | M12x45 8.8 &k
L
L1
/|
I
i
I
A A
1 OO0 O ©O
N [
1| OC 6 00
N i J'
I
25 | 25 100 25 | 25

68



90 RS, tai%. BiRREE

90 guideway flat rail,rack,pinon mounting dimensions

125.84 165.84
‘ ~L TL (N1
=T =T
| I ) | i LL-
,,,[jw i Q ,Pﬁ ! J Q
I ) |l 453
LT ]
. ,_—6 - 7_4
AO_J |80 |
80 120
187 227
PEE S Guideway flat rail rack
il L L1 =E | e5iEP g TEEER IRFRRIER
Code Module | (mm) | Material |Precision grade Bolt size
KGK901019 | 1000| 900 | 5.0930 16.0 S45C DIN9 M12x45 8.8 4%
KGK902019 | 2000 | 1900 [ 5.0930 16.0 S45C DIN9 M12x45 8.8 4%
L
L1
o-—-—-- - Ty
i /i
i /] -
o | I @
= i N
= N
88 @@ @Y LA
. o135 Y Y\ /1 W\
: N AAMNAAMNAAAAAAAMNSANANAANLLDNANANMDNMDAS
AW AR WA I WAL WA I W A W A W A W A W Y v AW Y //.J AW A W A W A W A W A W W AW W A Y VA YA
13 st 25 | 25 100 25 | 25
40+0.02
il L 1 1BE | egiEP g FEEER ISR RIEE
Code Module | ( mm ) | Material |Precision grade Bolt size
KGK901029 | 1000 | 900 | 5.0930 16.0 S45C DIN9 M12x45 8.8 4%
KGK902029 | 2000 | 1900 | 5.0930 16.0 S45C DIN9 M12x45 8.8 4%
L
L1
7777 If
| I
i i
S ! 5
5 7 /| <
: oYe) O O 00 |t
= 9 YWY Y || Y \&%)
N Van\Ya { 72\ ANV
S : 0 N @E i & Y'Y
213.5 N A AAAAAAAAAY A LAAAAAAAAAAAAAS
R e 25_| 25 100 25| 25

69




iR Rack
mg | | | mE | eEEP | mN | mESE g
Code Module | (mm ) [ Material | Precision grade Bolt size
KGS90109 | 1000 | 900 5.093 16.0 S45C DIN9 M12x45 8.8 2%
KGS90209 | 2000 | 1900 5.093 16.0 S45C DIN9 M12x45 8.8 2%
L
L1
/L
I[
S o f ’,’I >
e 1000000 |
~ aA13.5 N 1y
e AANAS APEAN 2y,
13 25 25 100 25 | 25
49+0.05
Ea¥m Drive pinion
Mo | &l | mE | S SR Weicht
= Code z Module P Fig. Precison grade KGg
SGLP90-CP10| 20 5.0930 16.0 1 DIN6 9
["ﬁli SGSP90-CP10| 20 5.0930 16.0 2 DIN6 25
302 90
50 252 50
= 2 T B 8- o - Q o e T T [S]
8 8 Q 8 =
D40H7
. |
40,
EH Fig.1 ZR Fig.2

70



F52 BYiniRaE

F52 BUtRsc BE ( AfHISZEE ) Roller support (right hand version)
° o
q |o o
40
156
90 25 106
S
S
e S
) &
<, @
— — o
H. H
O,
O @ = D © @
«© *® o 50 10
50 56
BugE EHEM Car Cu® Cw® Nmax
Code @ ® ® (kg) (N) (N) (N) (min™)
KGA52.1R GBR GER GER 4 28000 14000 3500 3800
KGA52.2R GBR GER GBR 4 28000 14000 3500 3800
KGA52.3R GER GBR GER 4 28000 14000 3500 3800
CW?® : Normal service life 10°m CW?® : Normal service life 10°m
12 RYER Stud roller
= fRLE = [ ass Sy lii)
g = -
I é%:f’e Excenter Weight MA
¢ : (mm ) (kg) (Nm)
GBR52 1 - 0.47 120
GER52 2 1 0.47 120
S 24
(=]
5 [_9\ 10
3 3] (=15 [ (&
-t - g KJ -
10 ‘ \ X . \_X_/
18 || 21
0.8 40.5 30
66
FE1 Fig.1 [#2 Fig.2

71



98

0
f 40
98
F52 BYzERsT BE ( ZofRISZEE )
gii
¥ 40
156 90
%0 25 106 70
- o - .ﬂ.l -
) - S & SO
g,
o - ~ 0
i it
= ol = —_
) <2 M ©
g = = ' S Q&H
56 K,
q)b{\‘\\g Ve
¢—o ? ©
= S
- 25 50 o) 19
BugE HEM Cam G2 Cu® Nmax
Code @ @ ® (kg) (N) (N) (N) (min™)
KGA52.1L GBR GER GER 4 28000 14000 3500 3800
KGA52.2L GBR GER GBR 4 28000 14000 3500 3800
KGA52.3L GER GBR GER 4 28000 14000 3500 3800
CW?® : Normal service life 10°m CW® : Normal service life 10°m
wERaE, Guideway fat rail
Az ) % H igieRsg
Code Material Bolt size
KGF304010 1000 900 42CrMo M10x40 8.8 &%
L
L1
30 100
OO 6O/ 6 OO
A\ A\ hd \ X Y'Y
111 | - 25 | 25 2-010%10nm / 25 | 25
100 2-07.8 100

72



F62 BYiRiniE

F62 BYmtmsz RE ( AafalsZEE ) Roller support (right hand version)
-] o -]
«
~N ° °
40
174
105
30 114
w
D Z f‘
%
\% V_Db
&
n 3 3 =
— — — O
12
@ o [‘@ . @
ray f) o) a g O
30 ©
«© 10 65
50 74
il BEM Com C® C® Nmax
Code @ ® ® (kg) (N) (N) (N) (min™)
KGA62.1R GBR GER GER 7 39500 21400 5400 2200
KGA62.2R GBR GER GBR 7 39500 21400 5400 2200
KGA62.3R GER GBR GER 7 39500 21400 5400 2200
CW?® : Normal service life 10°m CW® : Normal service life 10°m
Legesilhr Stud roller
g - fRO= 2 IBRHEENEE
] =
Cgc:fc)ﬁe Excenter Weight MA
: (mm) kg) (Nm)
GBR62 1 -- 0.82 220
GER62 2 1 0.82 220
S 28
S 11 1 A
b r —
3 e s [0 i (7] (&
T Lo g KJ [
14 ‘ \_X i, \ X /
22 25
1.3 495 36 LT
80
[¥1 Fig.1 2 Fig.2

73



111

40

F62 BUimsmss R ( ZfRISZEE ) Roller support (left hand version)
: @
I
40
174 105
105 30 114 85
o 10 65
| e}
& O A o 4 C A
>
(-] §\ Q
H © 71
8 B 3
Bl 3 3 S N
T - »
v,
A WO N\B G /@
p 2= q, ©
'7// s = M I
o 30 o 10 9 62
74 50
g!% BEEM Cow CW® CW® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGA62.1L GBR GER GER 7 39500 21400 5400 2200
KGA62.2L GBR GER GBR 7 39500 21400 5400 2200
KGA62.3L GER GBR GER 7 39500 21400 5400 2200
CW?® : Normal service life 10°m  CW® : Normal service life 10m
e, Guideway fat rail

30

40

1

HigE ] 9 L igpemsE
Code Material Bolt size
KGF304010 1000 900 42CrMo M10x40 8.8 4%
L
L1

100
OO 6 O/ 6 - OO
A S . A\
25 | 25 2-610%10mm / 25 | 25
100 2-07. 8 100




F72 BYREmiE
F72 Bligstms ke ( GfRISZEE ) Roller support (right hand version)

o o
"’Oj (-] o
48
202
116 30 142
82
o o
N D O>—& N
&
Z 60
o ® by
~ ) ®
il © | | ©
f) D o
o 30 2, o
60 Y
BugE HEM Cagy Cp® C® Nmax
Code @ ® ® (kg) (N) (N) (N) (min?)
KGA72.1R GBR GER GER 9 46500 24600 6200 2200
KGA72.2R GBR GER GBR 9 46500 24600 6200 2200
KGA72.3R GER GBR GER 9 46500 24600 6200 2200
CW?® : Normal service life 10°m CW?@ : Normal service life 10°m
2R IR Stud roller
= - fROE BHE IREHEELEE
1
g‘;sfe F Excenter Weight MA
2 (mm) (k) (Nm)
GBR72 1 -- 1.05 220
GER72 2 1 1.05 220
S 28
S -G 2 D
14 ‘ )
22 ||, 25
1.3 49.5 36

|51 Fig.1 [#2 Fig.2

75



125

[/ Z|
48
125
F72 BYebmsc R ( AcfRISZEE )
3
48
202
116
30 142
= 2
o—¢ o — OO
50 o AW %
if @ © 1]
S 8
® & > 6 7 -
<
o L m
L R0 (o)
o [EWE N \ \@//
o | N -~ T3
T S =1y N/
82 2 15
30 30
116
BugE BHEM Ca Cu® Cw® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGA72.1L GBR GER GER 12 46500 24600 6200 2200
KGA72.2L GBR GER GBR 12 46500 24600 6200 2200
KGA72.3L GER GBR GER 12 46500 24600 6200 2200
CW?® : Normal service life 10°m CW® : Normal service life 10°m
S Guideway fat rail
BUER L L1 p o IZHETIER
Code Material Bolt size
KGF384810 1000 900 42CrMo M12x50 8.8 4k
L
L1
38 100
//
i7an\Y/ar\ Py ./ o 7an\Y/ar\
Y\ Y Y7/ x \S/A\P)
15 b 25|25 2-010%10mn,” 25125
100 2-07. 8 100

76



FO0 BYiRiR4E

FO0 BYizkmsc E ( AafAlsZEE ) Roller support (right hand version)

3| e °
48
146 242
o 35 172 35
N o
N
D o é>
4 v
Y
%, 4
70
|0 (s @}
LI N © S
< f\f\Q
H . © e
o~
% 10 —
N
= 3 102 35 5 15
ﬂgﬁ EE M COW CW® CW® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGA90.1R GBR GER GER 15 82000 43100 10800 1800
KGA90.2R GBR GER GBR 15 82000 43100 10800 1800
KGA90.3R GER GBR GER 15 82000 43100 10800 1800
CW?® : Normal service life 10°m  CW® : Normal service life 10°m
12 ER Stud roller
g - fROE = IRRHEE IR
I
[ C%sfe Excenter Weight MA
r A s (mm) (kg) (Nm)
= GBR90 1 -- 2.02 450
GER90 2 1 2.02 450
S 35
o
z ., 145 15
,,,,,, L
g = = 2 f ) ]
- g
= = KJ
14 ‘ LA
29 || 32
1 63 46
100
/1 Fig.1 [2 Fig.2

77



152

48

FO0 BYrismc I ( ZCfRAISZEE )
=
48
146 242
35 172 ,
w’/b 70T/ cﬂ//\\}\\/
¢ 3
© 2
X ©
g ~ Vv ~
= : ol °
15 /(f\\ 15
ST 9 T= w%//ca—@)o
35 35 ~ 116
102 70 —
gg% Eﬁ M COW CW® CW® Nmax
Code @ @ ® (kg) (N) (N) (N) (min)
KGA90.1L GBR GER GER 15 82000 43100 10800 1800
KGA90.2L GBR GER GBR 15 82000 43100 10800 1800
KGA90.3L GER GBR GER 15 82000 43100 10800 1800
CW?® : Normal service life 10°m CW® : Normal service life 10°m
izt Guideway fat rail
RgE ) 0 wH ORISR
Code Material Bolt size
KGF384810 1000 900 42CrMo M12x50 8.8 4%
L
L1
38 100
OO 06— O/ o OO
o A\ > A\ hd X // X WYY
A5 b 25125 2-010%10mn 251 25
100 2-07. 8 100

78



GUIDEWAY SYSTEM
FOR MEDIUM DUTY APPLICATIONS

G S

80



NSR22 RFIINTBH. Rl HE

NSR 22 series arc guide rail and roller slide seat

Arc guide

Pin hole

Detail A

Fixing hole
26 27.86
— 5 -
g 2245 Ri<f Dimensions(mm) n° fixing n° pin
Cod
ode A | f RT R2 R3 holes/360° | holes/360°

NSR22MO075 22.5° 45° 45° 88 75 62 8 4
NSR22M125 15° 30° 25° 138 125 112 12 8
NSR22M175 15° 30° 25° 188 175 162 12 8

Detail A

olo

81




NSR22 RFIINE B, FRIERE

NSR 22 series arc guide rail and roller slide seat

Slide seat

38 70
29 54

I 7 %
Il

De
~

70
54
Ay
-5

ly

196
Is Ir
RlgE 223 R~ Dimensions(mm) EEES
Code R Ix Is Ir ly De Combinations
4R22MO75NR22 75 40 14 15.6 43.3 22 NSR22MO075
4R22M125NR22 125 40 16 17.6 433 22 NSR22M125
4R22M175NR22 175 40 16.9 18.5 43.3 22 NSR22M175
V R Roller for guideway V bars
80° 6.5
{_\\ 14 10
/ B 038
2 f o TV MAﬁxl \?\
i I i | ~
7.7 i
' o -
9.4 9 15
36.8 . 18 8

A5 frovi | Bhlkfr | &y | il HI4E B R
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)

NR22 0 2900 1400 420 3 0.045

NR22R | 0.8mm 2900 1400 420 3 0.045




83

NSR35 RFUINTEBHL. TR

NSR 35 series arc guide rail and roller slide seat

Arc guide

Pin hole

Detail A

Fixing hole
46 47.86
— 8 -
HU5E 24 R <] Dimensions(mm) n° fixing n° pin
Code A | f R1 R2 R3 holes/360° | holes/360°
NSR35M225 11.25° 22.5° 7.5° 248 225 202 16 8
NSR35M300 11.25° 22.5° 7.5° 323 300 277 16 8
Detail A




NSR35 RN HE. kg R

NSR 35 series arc guide rail and roller slide seat

60

Slide seat

45

120

100

7
S

: )y
[a]
]i M8
o o
49 d1 S & A
= N N
295
Is Ir
Rl5k 224 R~} Dimensions(mm) EEEE
Code R Ix Is Ir ly De Combinations
4R35M225NR40 225 75 30.5 32.5 77 40 NSR35M225
4R35M300NR40 300 75 319 33.9 77 40 NSR35M300
V AU Roller for guideway V bars

19

5

5

0 0 — I _ M::I.2X1.5 \
14.6 i B
v ou__ 1T
155 | 12
58.5
A5 {0y B & 73 [ 77 HiHE B R
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)
NR40 0 8500 3650 1400 26 0.23
NR40R Tmm 8500 3650 1400 26 0.23

M-

qw_
25

29.5

84



85

NSR47 RFIIEEEL. RGN R

NSR 47 series arc guide rail and roller slide seat

Arc guide

Pin hole

Detail A

Fixing hole
76 78.58

5 %45 RsF Dimensions(mm) n° fixing n° pin

Code A | f RT R2 R3 | holes/360° | holes/360°
NSR47M400 9° 18° 18° 438 400 362 20 8
NSR47M500 9° 18° 18° 538 500 462 20 8

9

Detail A

PPN
PP

86 |

Fany
AW




NSRA7 RFIINH B, FimlE R

NSR 47 series arc guide rail and roller slide seat

Slide seat

71 180

\ .
f O %
1l

De

180

156
&
&

ly

34.2
Is Ir

A5k %4 R~ Dimensions(mm) ERES

Code R Ix Is Ir ly De Combinations
4R47M400NR52 400 110 46 49 116.8 52 NSR47M400
4R47M500NR52 500 110 474 50.4 116.8 52 NSR47M500

V Ry Roller for guideway V bars
80° 114

6 6 r
S _ L
1
] I
52 fhy — T M16X1.5 N
J T 5 | ~
19.1
' u__ 1 -
19.8 | 15 32
69.5 36.5 14

il Rt | BEkAT il 7 H4E B R
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)

B
zt
o

NR52 0 11700 8500 3000 64 0.51

NR52R | 1.5mm | 11700 8500 3000 64 0.51




NSR47 ZFIITL B, iR

NSR 47 series arc guide rail and roller slide seat

Arc guide
Pin hole

Detail A

Fixing hole
76 78.58
—! 10—
5 2245 R~} Dimensions(mm) n° fixing n° pin
Cod
ode A | f RT R2 R3 | holes/360° | holes/360°
NSR47M400 9° 18° 18° 438 400 362 20 8
NSR47M500 9° 18° 18° 538 500 462 20 8
{
9 N | 1 | \
) f
Detail A |
—150 90
—-MG-— -
-1-&-
K & 4}“%
‘13.—

PPN
Ay
J
|
|

87




NSR47 RF|I L BE. VRl

NSR 47 series arc guide rail and roller slide seat

Slide seat

71 180

! L® %
) i

54

De
R

180

156
&
&

ly

34.2
Is Ir
% %4 s Dimensions(mm) EEES
Code R Ix Is Ir ly De Combinations
4R47M400NR52 400 110 46 49 116.8 52 NSR47M400
4R47M500NR52 500 110 474 50.4 116.8 52 NSR47M500
V R Roller for guideway V bars

6 6 '
1 _ i
-1
1 N )
52 iR — i H  M16X15 EN
T R ™ i
19.1 i
v u_ T -
198 | 15 32
69.5 36,5 14

A5 {0 kAT | K\ | e HixE o &
Code | Excenter | Cw(N) Fr(N) Fa(N) (N.m) (kg)

NR52 0 11700 8500 3000 64 0.51

NR52R | 1.5mm | 11700 8500 3000 64 0.51




NSR RFIFEMEARBHH G

NSR series arc and linear guideway combination

80°
. L . OWA
: | A
pin hole
' b _LJ%_ b b 3
£ D ){\

j\ ,e/&/ \./
~e & - 12
o - ] K_ - o|o
o|o W o|o
i 50 , 90 90 90 90 50 g

/e/ = = \Z
/ A )&/
0 L)

itk 2235 R~ Dimensions(mm)

Col A | f R D d S h H
NSRA22MO75L... 225° 45° 45° 75 6.5 5 5 26 27.86
NSRA22M125L... 15° 30° 25° 125 6.5 5 5 26 27.86
NSRA22M175L... 15° 30° 25° 175 6.5 5 5 26 27.86
NSRA35M225L... 11.25° | 225° | 75° 225 9 8 8 46 47.86
NSRA35M300L... 11.25° 22.5° 7.5° 300 9 8 8 46 47.86
NSRA47M400L... 9° 18° 18° 400 11.5 10 10 76 78.58
NSRA47M500L... 9° 18° 18° 500 | 115 10 10 76 78.58

NSRA 35 M225 L2000

NSRA 35 M225 L2000

89




NSR R5|IEMEREHHEE

NSR series arc and linear guideway combination

80°
oW
78
-
oto
1] s,
;
EE‘
W
90 '

pive 2% R~ Dimensions(mm)

Code A | f R D d S h H
NSRB22MO75X...Y... 22.5° 45° 45° 75 6.5 5 5 26 27.86
NSRB22M125X...Y... 15° 30° 25° 125 6.5 5 5 26 27.86
NSRB22M175X...Y... 15° 30° 25° 175 6.5 5 5 26 27.86
NSRB35M225X...Y... 11.25° 22.5° 7.5° 225 9 8 8 46 47.86
NSRB35M300X...Y... 11.25° 22.5° 7.5° 300 9 8 8 46 47.86
NSRB47M400X...Y... 9° 18° 18° 400 11.5 10 10 76 78.58
NSRB47M500X...Y... 9° 18° 18° 500 11.5 10 10 76 78.58

NSRB 35 M225 X1000 Y500
NSRB 35 M225 X1000 Y500 Y

920



INDUSTRIAL ALUMINUM
PROFILES

TR



RisR

Structural beam

GZL33 GZL28 GzZL28C
200 130
194 122 80
| 126 | [’—70 | 210.2 74
@21\ \
9 O - ) o
] b R39
E] [ 100 il 88 140
T’ 160 212 220 A
267 4] [- 226 294 300 s4a || 18
@Lﬁ 2, & 22
s | M16 =
167
/4 /[ 163
65] ‘5/
-
28 GZL28C GZL28 GZL33
IX-X 2.8x10° 4.7x107 16.9x107
TREE mm?*
ly-y 10.2x10° 1.8x107 8.4x10’
BE Q Kg/m 11.3 24 375
BEEE E N/mm? 66000
BRADITFERINS o N/mm? 90
H ol
GZL 28C L3500
1 2 3

1: GZL ®EIESR:
2: ##% 28C 28 33:

3: RRE (BRARE 6000mm)

92



/

k

l,,

N

e ==

ars el

=y p =

=N

T5—

Structural beam

93



LUBRICATION
SYYSTEM

HRRA

94



Etin & TR

Felt pinion&Mounting axle

T N}\ﬁ ’Z‘Tr
| - A
3 + o X 3 \ o £ 3 / o| ¥
[ \H\ I
L NN o
V., N bl
7 m :
o
L EO)[ HEp -
G
b1
| L
e T = =5 T
Cgclzjgfe mt;%;%zle 251 B@)ﬁi llilijthgd{i%aé Ozt{zjiéia. Vﬁ'ﬂ?h Mouﬁrfﬁggﬁaxle iz Des;cﬁriﬂp)?tion
di d dk bl D L I G 5 58000
MSG152620 | 1.5 26 12 39 42 20 * * * * 1 Bt
MHR152520 | 1.5 25 12 39.7 427 20 * * * * 2 Ty
MHL152520 [ 1.5 25 12 39.7 427 20 * * * * 3 REEAHE
M151245 1.5 * 12 * * 20 30 | 45 | 10 | M8 4 LHEE
MSG021925 2 19 12 38 42 25 * * * * 1 =13
MSR021825 2 18 12 38.2 42 25 * * * * 2 SHEGHE
MHL021825 2 18 12 382 42 25 * * * * 3 REEHE
M021250 2 * 12 * * 25 30 | 50 | 10 | M8 4 HEHR
MSG031930 3 19 12 57 63 30 * * * * 1 =1
MHR031830 3 18 12 57.3 63 30 * * * * 2 SEAbE
MHL031830 3 18 12 57.3 63 30 * * * * 3 NEhE
MO031255 3 * 12 * * 30 30 | 55 | 10 | M8 4 ZHEHN
MSG041940 4 19 12 76 84 40 * * * * 1 =1
MHR041840 4 18 12 76.5 84 40 * * * * 2 SEsahE
MHL041840 4 18 12 76.5 84 40 * * * * 3 SIEEAHE
MO041265 4 * 12 * * 40 30 | 65 | 10 | M8 4 LHEE

95




9BitES Distributor

ARU-R B 1 EX(ERROER , HARITHAERERR

pee e HE L Y

Pl —EBITIELIR , ISR ErE , BR—IX,

ARU-4R-M

Division of point

DEFLEES
4R:4 point
6R:6 point
8R:8 point
10R:10 point
12R:12 point

Limit switch(Option)

PROZFERR (2 )

M : Built-in
No mark:none

EOBERBEBREE.

E LR EREN B O RS RIEES RE B EEIET(E
AR ZREBRIRE HREEREEL.

fEFRIRE -20°C -70°C

ARU-R-M BUSIR(FERESECRE , TEBMRAFRRRIE T(E

mgE ntHFLES = KBS = IEv) FEE XEE P HE
Codme Discharge |Discharge volume | Min.pressure |Max.pressure| Central pipe | Branch pipe NL"GI KIO Net weight
point cc/min Mpa Mpa PF PF : kg
ARU-4R 4 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-6R 6 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-8R 8 03 15 15 1/4" 1/8" #000-#1 0.64
ARU-10R 10 03 15 15 1/8" 1/8" #000-#1 0.72
ARU-12R 12 0.3 15 15 1/8" 1/8" #000-#1 0.72
HHAN3EE Assistant metal fittings
3 AU-16
am tiin o
& | e
‘ 9& J g
CHEP &9 L =f F @
;. ) (| Pail. I
5 /i : 24
ﬂl‘, : E ' H ¢ !
‘I‘ AU'ZG ¢ Fa A
= ~
¥y ey

ARU-R RIS ECRIRIERSS13EE) , (IRREMA—EMHOMER  HedtOREE  WEEFER#HES  IWHHITHER

96



Eibﬁgﬁﬁfgﬁfﬁl% Lubricator

+a. '_f__ - -
B/&E 250CC —— ——

“—_—5— —  EBmngkR

MO PT3/8

F5Eh

éM &EEEEEE;‘%}EE%  BXRELCD %% | 9ier « fUHBH. meFEREY. SRFR. BiEEdE. HETESE, ZIE
BHRE,

2 2EHEEWIHTHBCEEAEERE. BiE. R (HSIRIERENEE 20-60kg/cm’, EB—REISETMEER 5-10kg/cm B
AR, THBZERER iR,

3/ EMEHER  H (05M@R ). 1. 2. 3. 6 R 12{ARLIHERE,

4 iR ESE . (CRBIGR—FTER  BERENITH  ERREEREER.

5: B, THERNEET  FRIRESE -15°CE 60°C , JEARBERNEE. FHEALEBZISHESRE.
6 : RIS ERNEEEEH MBS, BEE. SR, SERERRSHERH.
EEEEREEThEREE

1: BARNERXARERRERGRERSE. TiHREEZRE.

2 BRZESREEZ  GEEER. TR0, WXk, KABUBE. B EEH. SHER. BRES.
3 —REEAZERGE  #E. K. REEX. AIE. fR. ERE BFE fnflE

IE(HERSEER
1: =BEBEHNEBTHRAEEG CV RE RO  EESEEECAN  RATES 8 A,

2 E-EROkHASXEE(EEERLEEH , BERIEREE—EEEREMIEE_EEE , KFFETE  ER—EHEE
RES S EEBMREEEHRALEESE  BETHARNSER | MEN BIEAESINEE RS,

3 : QV RIS FRss i E M SREREIE 1R 15kg/cm’ B LIEEE A 150kgf/cm?,

HIgE Code HERE BR BEEH BARHE BERE SHERFLRE
PM-2%0 220cc Dcasv(ar@Em) | 20kgf/cm 60kgf/cm -15°C -60°C NLGI1-2 &%
: -~ (280psi) (850psi) "
PM-500 500cc
BUZE Code fHnEHEE R = AR HRO& =S
PM-250
05. 1. 2. 3. 6. : 810g( )
IS /7 EH 9 8
V500 12 @8 #3120 %> / 1BHEA 0.34cc/stroke +3% PT3/8 10509( 23 )

97



ENEREHEMERAE
KAI HE MACHINERY CO.,LTD

ik - SEEPHEIEEER 36 8 2158
No.21,Ln.36,Fuxin Rd.Wufeng District, Taizhong, Taiwan
Tel:+886-4-23395817

Fax:+886-4-23392308

Http://www.kh-rack.com

Email:sales@kh-rack.com



	V型導軌傳動系統模块系统
	V型导轨齿条传动系统精度
	V軌系統負載能力和使用壽命
	V型導軌傳動系統驅動力和力矩
	V型導軌傳動系統選型確認
	V型導軌傳動系統安裝
	V型導軌傳動系統滾輪預載調整
	15型
	20型
	25型
	35型
	偏心法蘭
	重載扁導軌齒條系統模块系统
	重載扁導軌齒條系統規格選擇
	重載扁導軌齒條驅動力選擇
	重載扁導軌齒條系統選型確認
	重載扁導軌齒條系統安裝
	40型滾輪組
	52型滾輪組
	62型滾輪組
	72型滾輪組
	90型滾輪組
	潤滑系統



